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INSTRUCTIONS TO CANDIDATES

1. This Booklet contains 200 questions in all comprising the

following four parts:

Part – I :  General Intelligence & Reas. [50 Questions]

Part – II : General Awareness   [50 Questions]

Part – III : General Engineering     [100 Questions]

2. All questions are compulsory and carry equal marks.

3. Before you start to answer the questions you must check up

this Booklet and ensure that it contains all the pages  and

see that no page is missing or repeated. If you find any defect

in this Booklet, you must get it replaced immediately.

4. For every wrong answer 0.25 marks will be deducted from

the correct answer.

5. You will be supplied the Answer-Sheet separately by the

Invigilator. You must complete the details of Ticket

Number, Roll Number and Test Form Number on Side-I

of the Answer-Sheet carefully before you actually start

answering the questions. You must also put your signature

on the Answer-Sheet at the prescribed place. These

instructions must be fully complied with, failing which

your Answer-Sheet will not be evaluated and you will be

awarded ‘ZERO’ mark.

6. Answers must be shown by completely blackening the

corresponding rectangles on Side-II of the Answer-Sheet

against the relevant question number by black/blue ball

pen only. Answers which are not shown by black/blue

ball pen will not be awarded any mark.

7. The Answer-Sheet must be handed over to the Invigilator

before you leave the Examination Hall.

8. Failure to comply with any of the above instructions will

render a candidate liable to such action/penalty as any be

deemed fit.

9. The manner in which the different questions are to be

answered has been explained in the OMR form which you

should read carefully before answering the questions.

10. Answer the questions as quickly and as carefully as you

can. Some questions may be difficult and others easy. Do

not spend too much time on any question.

11. No Rough Work is to be done on the Answer-Sheet. Space

for rough work has been provided at the back of the booklet.

bl iqfLrdk dh lhy rc rd u [kksysa tc rd dgk u tk,

Read the following instructions carefully before you begin to answer the questions.

This Booklet contains questions in English as well as in Hindi.

iz'uksa ds mÙkj nsus ls igys fuEufyf[kr vuqns'kksa dks è;ku ls i<+ ysaA
bl iqfLrdk esa iz'u vaxzsth rFkk fgUnh nksuksa esa fn;s x;s gSaA

DO NOT OPEN THE SEAL OF THE BOOKLET UNTIL YOU ARE TOLD TO DO SO

RG: 137
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Part-I : General Intelligence and Reasoning

Hkkx&I : lkekU; cqf¼erk ,oa rdZ'kfDr
Directions (1 – 4) : In each of the following
questions, select the related letter/word/
number from the given alternatives.

funsZ'k (1 & 4) % fuEu izR;sd iz'u esa fn, x, fodYiksa esa ls
lEcfU/r v{kj@'kCn@la[;k dks pqfu,A
 1. North-west : South :: ?  : North

mÙkj&if'pe % nf{k.k %% ? %  mÙkj
(A) North-East/mÙkj&iwoZ
(B) South-West/nf{k.k&if'pe
(C) South/nf{k.k
(D) South-East/nf{k.k&iwoZ

 2. AGLP : SYDH :: LRWA : ?
(A) DIOS (B) DJOS

(C) DKLO (D) IPSV

 3. College : Professor :: Hospital : ?
egkfo|ky; % izkè;kid %% vLirky % \
(A) Nurse/ulZ (B) Doctor/fpfdRld
(C) Teacher/vè;kid (D) Student/Nk=k

 4. 25 : 841 :: 35 : ?

(A) 841 (B) 1521

(C) 1600 (D) 1444

Directions (5 – 8) : Find the odd word/letters/
number pair/number from the given
alternatives.
funsZ'k (5 & 8)% fn;s x, fodYiksa esa ls fo"ke 'kCn@v{kj@la[;k
;qXe@la[;k dks pqfu,A
 5. (A) Crane/lkjl (B) Cuckoos/dks;y

(C) Parrot/rksrk (D) Cow/xk;
 6. (A) ADNI (B) CGQL

(C) GJTO (D) ORBW
 7. (A) 72 (B) 78

(C) 84 (D) 108
 8. (A) KP (B) GS

(C) IR (D) XC
 9. Arrange the following words as per order in

the dictionary.
fuEufyf[kr 'kCnksa dks 'kCndks'k esa fn, x, Øe ds vuqlkj
O;ofLFkr djsaA
1. Benefica 2. Benefic
3. Banefica 4. Beneficial
(A) 2, 3, 1, 4 (B) 4, 2, 1, 3
(C) 3, 2, 1, 4 (D) 3, 2, 4, 1

 10. If × means ÷, ÷ means –, – means + and + means

×, then find the value of  
 15 3 45 – 25

(10 2) 2 8 – 33

 

  

;fn × dk vFkZ ÷, ÷ dk vFkZ –, – dk vFkZ + rFkk + dk

vFkZ × gS] rks 
 15 3 45 – 25

(10 2) 2 8 – 33

 

   dk eku Kkr dhft,\

(A) 10 (B) 11

(C) 13 (D) 14

Direction (11-13) : In question numbers 11 to
13, select the missing number from the given
responses.

funsZ'k (11-13) : iz'u la[;k 11 ls 13 esa] fn, x, fodYiksa
esa lsa foyqIr la[;k pqfu,A
11. 9 106

5 56

16 272

4 240

21 ?

20 41

(A) 441 (B) 400
(C) 361 (D)  841

12.
9 5 604 45

8 2 504 16

19 5 ? 95

(A) 7298 (B) 5160
(C) 6368 (D) 6734

13.

42

13 6

54

17 8 27 9

?

(A) 108 (B) 100
(C) 96 (D) 90

14. Six faces of a dice are shown below. Find
the colour of the face opposite to the ‘Violet’
colour's face?

,d ikls osQ N% lrg uhps fn[kk;s x, gS cSaxuh jax osQ lrg
osQ foijhr lrg dk jax Kkr dhft,\

Yellow/

Pink

Green Red

Violet
Blue

yky 

ihyk

 xqykch 

gjk 

uhyk 
cSaxuh

/

/

/
/

/

(A) Pink/xqykch (B) Blue/uhyk
(C) Red/yky (D) Yellow/ihyk

15. In a code language, if TURN is coded as
GFAU, then the word REASON will be coded
as-

fdlh dwV Hkk"kk esa] TURN dks GFAU ls dwfVr djrs gS] rks
REASON 'kCn dks dwfVr fd;k tk,xk\
(A) EOJXTQ (B) EPJZTQ
(C) NOSAER (D) QTXJOE

16. From the given alternative, select the
word which can't be formed using the
letters of the given words.

fuEufyf[kr fodYiksa esa ls] og 'kCn pqfu, tks fn, x,
'kCnksa ds v{kjksa dk iz;ksx djds ugha cuk;k tk ldrk
gSA
MINISTER
(A) REST (B) MINI

(C) MASTER (D) MISTER
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Directions (17-18) : In the following questions,

a series is given with one (or more) term

missing. Choose the correct alternative from

the given ones that will complete the series.

funsZ'k (17-18) % fuEufyf[kr iz'uksa esa] ,d vuqØe fn;k x;k
gS ftlesa ,d (;k vf/d) in yqIr gSA fn, x, fodYiksa esa
ls og lgh fodYi pqfu, tks vuqØe dks iwjk djsaA
17. 675, 528, 399, 288, ?

(A) 224 (B) 195

(C) 250 (D) 169

18. 45, 67, 111, 199, ?

(A) 360 (B) 375

(C) 475 (D) 425

19. Arrange the words given below in a

meaningful sequence.

uhps fn, x, 'kCnksa dks ,d lkFkZd vuqozQe esa O;ofLFkr djsaA

(1) Tree (2) Branch

(3) Flower (4) Fruit

(5) Leave

(A) 1, 2, 3, 4, 5 (B) 1, 2, 5, 4, 3

(C) 5, 4, 3, 2, 1 (D) 1, 2, 5, 3, 4

 20. From his house, Anil goes 45 km to South.

Now, he turns East and covers 30 km and

again turns North and covers 15 km. Finally

he turns to West, and covers 30 km. In which

direction is he from his house?

vius ?kj ls] vfuy 45 fdeh- nf{k.k dh vksj tkrk gSA vc
og iwoZ dh vksj eqM+rk gS rFkk 30 fdeh- dh ;k=kk djrk gS
vkSj nksckjk mÙkj dh vksj eqM+rk gS vkSj 15 fdeh- dh ;k=kk
djrk gSA var esa og if'pe dh vksj eqM+rk gS vkSj   30

fdeh- dh ;k=kk djrk gSA og vius ?kj ls fdl fn'kk esa gS\

(A) North/mÙkj (B) South/nf{k.k

(C) East/iwoZ (D) West/if'pe
21. If 10 January, 2016 was Sunday, what was

the day on 15 September 2016?

;fn 10 tuojh] 2016 dks jfookj Fkk] rks 15 flrEcj
2016 dks D;k fnu Fkk\

(A) Thursday/xq:okj

(B) Friday/'kqozQokj

(C) Monday/lkseokj

(D) Wednesday/cqèkokj
 Direction (22) : Two statements are given here

which are followed by two conclusions. You have

to consider the two statements to be true even

if they seem to be at variance from commonly

known facts. You have to decide which of the

given conclusions, if any, follow from the given

statements.

funsZ'k (22) % ;gka nks dFku vkSj mlds vkxs nks fu"d"kZ fn,
x, gSaA vkidks bu dFkuksa dks lR; ekudj fopkj djuk gS pkgs
os lkekU;r% Kkr rF;ksa ls fHkUu izrhr gksrs gksaA vkidks fu.kZ;
djuk gS fd fn, x, fu"d"kksZ esa ls dkSu lk fu"d"kZ ;fn dksbZ
gS] lgh ykxw gksrk gSA
 22. Statements:/dFku%

1. Some Animals are Bird.

oqQN tkuoj i{kh gSA
2. All Birds are fruit.

lHkh i{kh iQy gSA
3. Some Fruits are vegetable

oqQN iQy lCth gSA
Conclusions:/fu"d"kZ%
I. Some Vegetables are Animal.

oqQN lCth tkuoj gSA
II. Some Vegetables are Bird.

oqQN lCth i{kh gSA
(A) Both I and II follows

nksuksa fu"d"kZ I vkSj II vuqlj.k djrs gSA
(B) Neither I nor II follows

u rks I u II vuqlj.k djrk gSA
(C) Only conclusion II follows

dsoy fu"d"kZ II vuqlj.k djrk gSA
(D) Only conclusion I follows

dsoy fu"d"kZ I vuqlj.k djrk gSA
 23. Identify the figure that will complete the

pattern.

ml vkd`fr dks igpkus tks iSVuZ dks iwjk djsxhA

Question figure:/ iz'u vkÑfr %

?

Answer figures:/ mÙkj vkÑfr;k¡ %

(A)  (B) (C) (D)
 24. Which one of the following diagram

represents the correct relationship among
Men, Animal and Machine.
fuEufyf[kr esa ls dkSu&lh vko`Qfr vkneh] tkuoj rFkk
e'khu osQ chp lacaèk dks n'kkZrh gS \

(A) (B)

(C) (D)



Ph: 09555108888,  09555208888 4

2007, OUTRAM LINES, 1ST FLOOR, OPPOSITE MUKHERJEE NAGAR POLICE STATION, DELHI-110009

 25. A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given in
the alternatives are represented by two
classes of letters as in two matrices given
below. The columns and rows of Matrix-I are
numbered from 0 to 4 and that of Matrix-II
are numbered from 5 to 9. A letter from
these matrices can be represented first by
its row and next by its column. E.g., ‘A’ can
be represented by 01, 20 etc., and ‘D’ can be
represented by 56, 65 etc. Similarly, you
have to identify the set for the word

‘PARROT’.

,d 'kCn osQoy ,d la[;k&lewg }kjk n'kkZ;k x;k gS] tSlk
fd fodYiksa esa ls fdlh ,d esa fn;k x;k gSA fodYiksa esa fn,
x, la[;k&lewg v{kjksa ds nks oxks± }kjk n'kkZ, x, gSa] tSlk fd
uhps fn, x, nks vkO;wgksa esa gSA vkO;wg&I ds LraHk vkSj iafDr
dh la[;k 0 ls 4 nh xbZ gS vkSj vkO;wg&II dh 5 ls 9A bu
vkO;wgksa ls ,d v{kj dks igys mldh iafDr vkSj ckn esa LraHk
la[;k }kjk n'kkZ;k tk ldrk gSA mnkgj.k ds fy, ‘A’ dks 01,
20 }kjk n'kkZ;k tk ldrk gS rFkk ‘D’ dks 56, 65 }kjk
n'kkZ;k tk ldrk gSA blh rjg ls] vkidks 'kCn ‘PARROT’
ds fy, la[;k lewg dks igpkuuk gSA
  Matrix/vkO;wg-I          Matrix/vkO;wg-II

0 1 2 3 4

0 L N E A C

1 A C L N E

2 N E A C L

3 C L N E A

4 E A C L N

    

5 6 7 8 9

5 P T O R S

6 R S P T O

7 T O R S P

8 S P T O R

9 O R S P T

(A) 67, 41, 43, 89, 23, 87
(B) 67, 41, 58, 89, 23, 87
(C) 67, 41, 58, 89, 76, 87
(D) 67, 58, 41, 76, 87, 72

Directions (26 – 28) : In each of the following
questions, select the related letter/word/
number from the given alternatives.
funsZ'k (26 & 28) % fuEu izR;sd iz'u esa fn, x, fodYiksa esa
ls lEcfU/r v{kj@'kCn@la[;k dks pqfu,A
 26. KILOGRAM : 512 :: KILOMETER : ?

(A) 216 (B) 342
(C) 500 (D) 729

 27. SISTER : HSIGRE :: MOTHER : ?
(A) NPTHER (B) NOTSER

(C) NTOSRE (D) REHTOM
 28. Histology : Tissue :: Ecology : ?

mÙkd foKku % mÙkd %% ifjfLFkfrdh % \
(A) History/bfrgkl
(B) Environment/i;kZoj.k
(C) Economics/vFkZ'kkL=k
(D) Finance/vFkZO;oLFkk

Directions (29 – 31) : Find the odd word/
letters/number pair/number from the given
alternatives.

funs Z'k (29 & 31)% fn;s x, fodYiks a es a ls fo"ke
'kCn@v{kj@la[;k ;qXe@la[;k dks pqfu,A
 29. (A) AEIO (B) OUAE

(C) EIOU (D) UOFA

 30. (A) Ostrich/'kqrjeqxZ (B) Nightingale/cqycqy
(C) Parrot/rksrk (D) Quial/cVsj

 31. (A) Increase/c<+uk (B) Addition/òf¼
(C) Extension/foLrkj (D) Subtraction/?kVkuk

 32. B is mother of A, C is mother of B and D is
son of C. How is A related to D?
B , A dh ekrk gS] C, B dh ekrk gS vkSj D, C dk csVk gSA
A, D ls oSQls lacafèkr gS\
(A) Niece/Hkrhtk (B) Nephew/Hkrhth
(C) Uncle/pkpk (D) None of these/

buesa ls dksbZ ugha
Direction (33-35) : In question numbers 33 to
35, select the missing number from the given
responses.
funsZ'k (33-35) : iz'u la[;k 33 ls 35 esa] fn, x, fodYiksa
esa lsa foyqIr la[;k pqfu,A
 33. 9 8 9 8

5 7 9 9

5 6 8 ?

20 20 17 47

(A) 2 (B) 3
(C) 5 (D) 6

 34.

9 

55 ?29

76 8 4
(A) 12 (B) 32
(C) 20 (D) 24

 35.
?

72

30

45

8 6
9 5

(A) 38 (B) 50

(C) 48 (D) 54
36. A person goes the South and travels 20 km

then he turns to left and travels 50 km. Now
he turns to right and travels 10km. Then
again he turns to right and travels 20km.
Finally he turns to left and travels 10 km.
Find the distance between initial place and
final place

,d vkneh nf{k.k dks pyrk gS vkSj 20 fdeh- dh nwjh r;
djrk gSA fiQj og ckbZ rjiQ eqM+rk gS vkSj 50 fdeh- dh nwjh
r; djrk gSA vc og nk;ha rjiQ eqM+rk gS vkSj 10 fdeh- dh
nwjh r; djrk gSA fiQj ls og nka;h rjiQ eqM+rk gS vkSj     20

fdeh- dh nwjh r; djrk gSA var esa og cka;h rjiQ eqM+rk gS
vkSj 10 fdeh- dh nwjh r; djrk gSA vkjafHkd LFkku rFkk
vafre LFkku osQ chp dh nwjh Kkr dhft,\
(A) 50 km/fdeh- (B) 45 km/fdeh-
(C) 40 km/fdeh- (D)  60 km/fdeh-
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37. How many points will be present on the face
opposite to the face which contains 6 points?

6 fcUnq okys lrg ds foijhr lrg ij fdrus fcUnq gksaxsa\

(A) 2 (B) 4
(C) 5 (D) 1

Directions (38-39) : In the following questions,
a series is given with one terms missing.
Choose the correct alternative from the given
ones that will complete the series:

funsZ'k (38-39) % fuEufyf[kr iz'uksa esa] ,d vuqØe fn;k x;k
gS ftlesa ,d in yqIr gSA fn, x, fodYiksa esa ls og lgh
fodYi pqfu, tks vuqØe dks iwjk djsaA
38. 1, 9, 36, 100, ?

(A) 125 (B) 200

(C) 225 (D) 250
39. 1, 4, 27, 256, ?

(A) 625 (B) 3125
(C) 100 (D) 500

40. The sum of ages of 6 children born at the
intervals of every 4 years is 78 years. What
is the age of  the youngest child?

izR;sd 4 lky osQ varjky ij iSnk gq, 6 cPpksa dh vk;q dk
;ksx 78 o"kZ gSA lcls de mez osQ cPPks dh vk;q fdruh gS\
(A) 4 years/o"kZ (B) 3 years/o"kZ
(C) 5 years/o"kZ (D) 2 years/o"kZ

41. Which one of the following diagram
represents the correct relationship among
Book, Plants and Animals.

fuEufyf[kr esa ls dkSu&lh vko`Qfr iqLrd] ouLifr rFkk
tkuoj osQ chp lacaèk dks n'kkZrh gS \

(A) (B)

(C) (D)

Direction (42) : Two statements are given here
which are followed by two conclusions. You have
to consider the two statements to be true even
if they seem to be at variance from commonly
known facts. You have to decide which of the
given conclusions, if any, follow from the given
statements.

funsZ'k (42) % ;gka nks dFku vkSj mlds vkxs nks fu"d"kZ fn,
x, gSaA vkidks bu dFkuksa dks lR; ekudj fopkj djuk gS pkgs
os lkekU;r% Kkr rF;ksa ls fHkUu izrhr gksrs gksaA vkidks fu.kZ;
djuk gS fd fn, x, fu"d"kksZ esa ls dkSu lk fu"d"kZ ;fn dksbZ
gS] lgh ykxw gksrk gSA
 42. Statements:/dFku%

1. All Plants are Cat.

lHkh ikSèks fcYyh gSA

2. All Cars are Cat.

lHkh dkjsa fcYyh gSA
Conclusions:/fu"d"kZ%
I. All Plants are Cars.

lHkh ikSèks dkj gSA
II. Some Cars are Plants

oqQN dkjsa ikSèks gSA
(A) Both I and II follows

fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gSA
(B) Neither I nor II follows

u rks I u II vuqlj.k djrk gSA
(C) Only conclusion II follows

dsoy fu"d"kZ II vuqlj.k djrk gSA
(D) Only conclusion I follows

dsoy fu"d"kZ I vuqlj.k djrk gSA
43. Arrange the words given below in a

meaningful sequence.

uhps fn, x, 'kCnksa dks ,d lkFkZd vuqozQe esa O;ofLFkr djsaA
(1) Word/'kCn (2) Paragraph/ys[k
(3) Sentence/okD; (4) Letter/v{kj
(A) 4, 3,1, 2 (B) 3, 2, 1, 4

(C) 4, 1, 3, 2 (D) 4, 1, 2, 3

44. In a code language, if HAPPY is coded as
CKKZT, then the word CRACK will be coded
as-

,d dwV Hkk"kk esa] ;fn HAPPY dks CKKZT ls dwfVr djrs
gS] rks CRACK 'kCn dks dwfVr fd;k tk,xk&
(A) XBVMF (B) XIZXQ

(C) XBVFM (D) MFVBX

45. Choose the correct alternatives from the
given ones that will complete the series.

fuEu fodYiksa esa ls lgh fodYi dk p;u djsa tks nh xbZ
J̀a[kyk dks iwjk djsxkA
abab _ a_ cd _ b _ d_

(A) cabde (B) cbaec

(C) cbace (D) cbacc

46. Insert the correct mathematical signs in
the following equation.

fuEu lehdj.k esa lgh xf.krh; fpUg MkysaA
25   5   10   2   30   15

(A) ×,– ,÷, +, = (B) ÷, +, ×,–, =

(C) =, ×,÷, ×, +, (D) ÷, –, ×, +, =

 47. In the given figure, find the number of
triangles?

nh xbZ vko`Qfr esa] f=kHkqtksa dh la[;k Kkr djsa\

(A) 6 (B) 7

(C) 9 (D) None of these/

buesa ls dksbZ ugha
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 48. Identify the figure that will complete the
pattern.
ml vkd`fr dks igpkus tks iSVuZ dks iwjk djsxhA
Question figure:/ iz'u vkÑfr %

Answer figures:/ mÙkj vkÑfr;k¡ %

(A)  (B) (C) (D)
 49. Arrange the following words as per order in

the dictionary.
fuEufyf[kr 'kCnksa dks 'kCndks'k esa fn, x, Øe ds vuqlkj
O;ofLFkr djsaA
1. Obediencia 2. Obediance

3. Obedient 4. Obedience

(A) 4, 3,1, 2 (B) 3, 2, 1, 4
(C) 2, 4, 1, 3 (D) 4, 1, 2, 3

 50. A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given in
the alternatives are represented by two
classes of letters as in two matrices given
below. The columns and rows of Matrix-I are
numbered from 1 to 4 and that of Matrix-II
are numbered from 5 to 8. A letter from

these matrices can be represented first by
its row and next by its column. E.g., ‘S’ can
be represented by 13, etc., 'D' can be
represented by 76 and ‘M’ can be
represented by 57 etc. Similarly, you have
to identify the set for the word ‘DAMP’.

,d 'kCn osQoy ,d la[;k&lewg }kjk n'kkZ;k x;k gS] tSlk
fd fodYiksa esa ls fdlh ,d esa fn;k x;k gSA fodYiksa esa fn,
x, la[;k&lewg v{kjksa ds nks oxks± }kjk n'kkZ, x, gSa] tSlk fd
uhps fn, x, nks vkO;wg esa gSA vkO;wg&I ds LraHk vkSj iafDr
dh la[;k 1 ls 4 nh xbZ gS vkSj vkO;wg&II dh 5 ls 8A bu
vkO;wgksa ls ,d v{kj dks igys mldh iafDr vkSj ckn esa LraHk
la[;k }kjk n'kkZ;k tk ldrk gSA mnkgj.k ds fy, ‘S’ dks 13,

}kjk n'kkZ;k tk ldrk gS] 'D' dks 76, }kjk n'kkZ;k tk ldrk
gS rFkk ‘M’ dks 57 }kjk n'kkZ;k tk ldrk gSA blh rjg ls]
vkidks 'kCn ‘DAMP’ ds fy, la[;k lewg dks igpkuuk gSA
 Matrix-I/vkO;wg-I     Matrix-II/vkO;wg-II

1 2 3 4

1 A M S D

2 S M A D

3 M D A S

4 A M S D

  

5 6 7 8

5 A C M P

6 C A D P

7 C D P S

8 A M C P

(A) 24, 66, 86, 78 (B) 24, 66, 78, 68

(C) 24, 66, 43, 58 (D) 76, 33, 42, 58
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Part-II : General Awareness

Hkkx&II : lkekU; tkudkjh
 51. The Mudumalai National Park is located in

which state?

eqnqeykbZ jk"Vªh; m|ku fdl jkT; esa fLFkr gS\
(A) Kerala/osQjy
(B) Tamil Nadu/rfeyukMq
(C) Andhra Pradesh/vkaèkz izns'k
(D) Karnataka/dukZVd

52. Which Indian personality has been elected
as the new chairman of FIFA Governance
Committee?

fdl Hkkjrh; O;fDrRo dks iQhiQk izcaèku desVh osQ u, vè;{k
osQ :i esa pquk x;k gS\
(A) Mukul Mudgal/eqoqQy eqnxy
(B) Rajeev Shukla/jktho 'kqDyk
(C) Ajay Shirke/vt; f'kosZQ
(D) R M Lodha/vkj-,e-yks<+k

53. In the interim government formed in 1946
the Vice-President of the Executive Council
was:

1946 esa varfje xfBr ljdkj esa dk;Zdkjh ifj"kn osQ
mikè;{k dkSu&Fks\
(A)  Jawaharlal Nehru/tokgjyky usg:
(B)  Dr. S. Radhakrishnan/MkW- ,l- jkèkko`Q".ku
(C)  C. Rajagopalachari/lh- jktxksikykpkjh
(D)  Dr. Rajendra Prasad/MkW- jktsUnz izlkn

54. The best indicator of economic development
of any country is-

fdlh Hkh ns'k osQ vkfFkZd fodkl dk lcls vPNk lwpd gksrk
gS&
(A) Agriculture/o`Qf"k
(B) Transport/ifjogu
(C) Gross production/ldy mRiknu
(D) Per Capital income/izfr O;fDr vk;

55. The 2017 hunting festival “Bishu Parv” was
observed in which state?

2017 dk ̂ ^fc'kq ioZ** f'kdkj R;ksgkj fdl jkT; esa euk;k
x;k Fkk\
(A) Jharkhand/>kj[kaM
(B) Manipur/ef.kiqj
(C) West Bengal/if'pe caxky
(D) Odisha/mM+hlk

56. India’s first bio refinery plant has been set
up in which of the following states?

Hkkjr dk igyk tSo&fjiQkbujh la;a=k fuEu esa ls fdl jkT;
esa LFkkfir fd;k x;k gS\
(A) Andhra Pradesh/vkaèkz izns'k
(B) Assam/vle
(C) Tamil Nadu/rfeyukMq
(D) Maharashtra/egkjk"Vª

57. What is a diabetes specialist called?
eèkqesg fo'ks"kK dks D;k dgk tkrk gS\
(A) Endocrinologists/,aMksfozQuksykWftLV
(B) Horologist/gksjkykWftLV
(C) Archaeologist/vkdhZvkykWftLV
(D) Gynaecologist/xkbudkykWftLV

58. Which of the following is/are common use
of Sulphur?

fuEu esa ls dkSu&lk@ls lYiQj osQ lkekU; mi;ksx gS\
(A) Fertilizers/moZjd
(B) Batteries/cSVfj;ksa
(C) Insecticides/dhVuk'kdksa
(D) All of these/mijksDr lHkh

59. Which of the following is not the unit of
energy?
fuEu esa ls dkSu&lh mQtkZ dh bdkbZ ugha gS\
(A) Calorie/oSQyksjh
(B) Joule/twy
(C) Electron Volt/bySDVªksu oksYV
(D) Tesla/VsLyk

60. Generally saline water lakes are found in
semi-arid region because:
vkerkSj ij [kkjs ikuh dh >hy v¼Z 'kq"d {ks=kksa esa ikbZ tkrh
gS D;ksafd%
(A) Large number of Crustaceans make

water salty/cM+h ek=kk esa ozQlVsf'k;u ikuh dks
[kkjk cukrs gSA

(B) Rate of evaporation is very high in
these regions/bu {ks=kksa esa ok"ihdj.k dh nj
cgqr vfèkd gksrh gSA

(C) Both (A) and (B)/A vkSj B nksuksa
(D) None of these /buesa ls dksbZ ugha

61. Gandhiji proposed which of the following
demands in front of British government in
the year 1922 after disapproval of which he
warned to start Civil-Disobedience
movement?
xk¡èkh th us 1922 esa fczfV'k ljdkj osQ lkeus fuEufyf[kr
esa ls dkSu&lh ekaxs j[kh] ftuosQ u ekus tkus ij lfou;
voKk vkanksyu 'kq: djus dh èkedh nh xbZ\
1. Deregulating the press

izsl dks fu;a=k.k eqDr djuk
2. Restoring Civil liberties

ukxfjd Lora=krk dks cgky djuk
3.   Release of political prisoners

jktuhfrd oSQfn;ksa dh fjgkbZ
Code/owQV
(A) 1 and 2 only/osQoy 1 vkSj 2
(B) 2 and 3 only/osQoy 2 vkSj 3
(C) 1 and 3 only/osQoy 1 vkSj 3
(D) All of these/mijksDr lHkh
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62. Which of the following is an example of

mixed farming?

fuEu esa ls dkSu fefJr o`Qf"k dk mnkgj.k gS\
(A) Production of wheat along with pulses

in same farm/,d gh [ksr esa xsgw¡ vkSj nky dh
mit

(B) Production of paddy along with Grams

in same farm/,d gh [ksr esa èkku vkSj pus dh
mit

(C) Production of wheat along with cattle

rearing in same farm/,d gh [ksr esa xsgw¡ dh
mit vkSj i'kqpkj.k

(D) Production of wheat along with pulses

in different farm/fHkUu [ksr esa xsgw¡ osQ lkFk nky
dh mit

63. The only instance when the president of
India exercised his power of pocket veto is
related to

Hkkjr osQ jk"Vªifr us fdl ,d ek=k osQl esa viuh ikWosQV foVks
dh 'kfDr dk iz;ksx fd;k Fkk\
(A) The Hindu Code Bill/fgUnw dksM fcy
(B) The PEPSU Appropriation Bill/isIlw fofu;ksx

foèks;d
(C) The Indian Post Officer Bill/Hkkjrh; Mkd?kj

foèks;d
(D) The Dowry prohibition Bill/ngst izfr"ksèk

foèks;d
64. Which one among the following hormones

simulates the plants cell to grow in a
manner such that the plant appears to be
bent towards light?

fuEufyf[kr esa ls dkSu&lk gkeksZu iknd dksf'kdkvksa dks bl
izdkj c<+us osQ fy, izsfjr djrk gS ftlls iknd izdk'k dh
vksj eqM+k gqvk izrhr gksrk gS\
(A) Cytokinin/lkbVksdkbfuu
(B) Auxin/vkWfDlu
(C) Gibberellin/ftczjfyu
(D) Abscisic acid/,sClhfld vEy

 65. The Economic survey is completed by:

vkfFkZd leh{kk fdlosQ }kjk rS;kj dh tkrh gS\
(A) Office of Economic Advisor/vkfFkZd lykgdkj

osQ dk;kZy; }kjk
(B) Central Statistical Office (CSO)/osQUnzh;

lakf[;dh dk;kZy; }kjk (CSO)

(C) National Sample Survey Organization

(NSSO)/jk"Vªh; uewuk losZ{k.k laxBu }kjk (NSSO)

(D) Department of Economic Affairs/vkfFkZd
ekeyksa osQ foHkkx }kjk

 66. Which among the following is a chemical

process?

fuEufyf[kr esa ls dkSu&lh ,d jlk;fud izfozQ;k gS\
(A) Distillation of sea (salty) water/leqnzh ty

dk vklou
(B) Crystallization of impure salt (NaCl)/

v'kq¼ ued dk fozQLVyhdj.k
(C) Production of iodine from seaweeds/leqnzh

'kSoky ls vk;ksMhu dk mRiknu
(D) Sublimation of iodine /vk;ksMhu dk mèoZikru

 67. Which of most important source of income

for Government of India?

Hkkjr ljdkj osQ fy, vk; dj dk lcls egRoiw.kZ L=kksr
dkSu&lk gS\
(A) Reserve Bank of India/fjT+koZ cSad vkWiQ bafM;k
(B) License Fee/ykblsUl 'kqYd
(C) Income Tax/vk;dj
(D) Excise Duty/mRikn 'kqYd

 68. Which Indian sportsman has won bronze in

Greco Roman 80kg category at 2017 Asian

Wrestling Championship?

2017 dh ,f'k;kbZ oqQ'rh pSafi;f'ki esa xzkdks&jkseu 80
fdyksxzke JS.kh esa fdl Hkkjrh; f[kykM+h us dkL; ind thrk
gS\
(A) Jaspreet Singh/tlizhr flag
(B) Ravinder Singh/jfoUnz flag
(C) Gurpreet Singh/xqjizhr flag
(D) Harpreet Singh/gjizhr flag

 69. The Tanjore painting are called ‘Penal

painting’’ means Tanjore painting are:

ratkSj fp=kdyk dks ̂ eaMy fp=kdyk* Hkh dgk tkrk gSA bldk
vFkZ gS fd ratkSj fp=kdkjh&
(A) Made on clothes/diM+ks ij dh xbZ gS
(B) Made on solid wood planks/Bksl ydM+h osQ

r[rks ij dh xbZ gS
(C) Made on plaster walls/nhokjksa ij ysiu fd;k

x;k gS
(D) None of the above/buesa ls dksbZ ugha

 70. Which one among the following is a primary

rock?

fuEu esa ls dkSu&lh izFkkfed pV~Vku gS\
(A) Sedimentary/ryNVh
(B) Igneous/vkXus;
(C) Metamorphic/dk;kUrfjr
(D) None of these/buesa ls dksbZ ugha
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 71.   The most commonly used bleaching agent
is-
lcls vfèkd bLrseky fd;k tkus okyk Cyhfpax (foajtu)
inkFkZ gS\
(A) Alcohol/'kjkc
(B) Carbon dioxide/dkcZu MkbZvkDlkbM
(C) Chlorine/Dyksjhu
(D) Sodium Chloride/lksfM;e DyksjkbM

 72. Among the given nutrients milk is a poor
source of:
fuEu iks"kd rRoksa esa ls nwèk fdldk vPNk L=kksr ugha gSA
(A) Calcium/oSQfY'k;e
(B) Protein/izksVhu
(C) Carbohydrate/dkcksZgkbMsªV
(D) Vitamin C/foVkfeu&C

 73. Equal volume of all gases under same
temperature and pressure contain equal
number of molecules is :
fdl fl¼kar osQ vuqlkj leku rki rFkk nkc ij lHkh xSlks
osQ leku vk;ruksa esa v.kqvksa dh la[;k,a leku gksrh gS\
(A) Avogadro’s law/voksxknzks dk fl¼kar
(B) Charles law/pkYlZ dk fl¼kar
(C) Boyle’s law/ckW;y dk fl¼kar
(D) Graham’s law/xzkge dk fl¼kar

 74. Gross budgetary support means-

ldy ctVh; leFkZu dk eryc gS&
(A) Centre’s contribution to budget/ctV osQ

fy, osQUnz dk lg;ksx
(B) Expenditure in budget on social

scheme/lkekftd ;kstukvksa ij ctV esa O;;
(C) Assistance provided by the centre to five

year plan/osQUnz ljdkj }kjk iapo"khZ; ;kstukvksa osQ
fy, lgk;rk

(D) None of the above/buesa ls dksbZ ugha
 75. In which year the Taj Mahal was built?

rktegy dk fuek.kZ fdl o"kZ fd;k x;k Fkk\
(A) 1632-1652

(B) 1652-1672

(C) 1601-1621

(D) 1539-1559
76. Match List I (Crops) with List II (Temperature

Required) and select the correct answer using
the codes given below the lists.

lwph&I (iQly) dks lwph&II (vHkh"V rkieku) ls lqesfyr
dj uhps nh xbZ lwfp;ksa osQ izòf"V;ksa esa ekStwnk owQVksa dk mi;ksx
djosQ lgh mÙkj dk p;u djsaA

List I/lwph&I       List II/lwph&II

a. Paddy/èkku 1. 20ºC

b. Wheat/xsgw¡ 2. 22ºC

c. Maize/eDdk 3. 25ºC

d. Groundnut/eq¡xiQyh 4. 26ºC

Codes/owQV
a    b     c    d

(A) 1    2    3    4
(B) 4    2    3    1
(C) 2    1    4    3
(D) 1    3    4    2

77. The 43rd edition of G7 summit will be held
in which city?

th&7 f'k[kj lEesyu osQ 43osa laLdj.k dk v;kstu fdl
'kgj esa fd;k tk,xk\
(A) Germany/teZuh
(B) Italy/bVyh
(C) France/izaQkl
(D) United States/la;qDr jkT; vesfjdk

78. For which one of the following judgments of
Supreme Court of India, the Kesavananda
Bharati vs State of India case in considered
a landmark?

osQ'kokuan Hkkjrh; cuke Hkkjr jkT; ekeys esa mPpre U;k;ky;
osQ fuEufyf[kr esa ls fdl iSQlys dks ,sfrgkfld ?kVuk ekuk
x;k gS\
(A) The religion cannot be mobilised for

political ends/jktuhfrd var osQ fy, èkeZ dks
lxafBr ugha fd;k tk ldrk gSA

(B) Abolishing untouchability from the

country/ns'k dks NqvkNwr ls [kRe djuk
(C) Right to Life and Liberty cannot be

suspended under any circumstance/

Lora=krk vkSj thou osQ vfèkdkjksa dks fdlh Hkh ifjfLFkfr
esa fuyafcr ugha fd;k tk ldrk gSA

(D) The basic structures of the constitution
as defined in the preamble, can't be

changed/izLrkouk esa ifjHkkf"kr lafoèkku dh cqfu;knh
lajpuk dks ugha cnyk tk ldrk gSA

79. Swaroop Committee is associated with

Lo:i lfefr lacafèkr gS&
(A) Financial products marketing/foÙkh; mRiknksa

dk foi.ku ls
(B) Sugar marketing/phuh foi.ku ls
(C) Banking/cSfoaQx ls
(D) Capital marketing/iwath foi.ku ls

80. Who has been appointed as the India’s new

ambassador to France?

izQakl osQ fy, Hkkjr osQ u, jktnwr osQ :Ik esa fdlss fu;qDr
fd;k x;k gS\
(A) Vinay Mohan/fou; eksgu
(B) Brajendra Navnit/cztsUnz uouhr
(C) Rajeev Topno/jktho Vksisuks
(D) Nilesh Jain/uhys'k tSu
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81. Who of was a founder of the Bharat

Naujawan Sabha in 1926?

1926 esa Hkkjr ukStoku lHkk osQ laLFkkid dkSu Fks\
(A) Lala Lajpat Rai/ykyk yktirjk;
(B) Bhagat Singh/HkDr flag
(C) Lala Hardayal/ykyk gjn;ky

         (D)  Sohan Singh Bhakhna/lksgu flag Hk[kuk
82. The seeds of flowering plants are made up

of :

iq"ih ikSèkksa osQ cht fdl Hkkx ls fufeZr fd, tkrs gS\
(A) Ovary and ovary wall/vaMk'k; vkSj vaMk'k;

&fHkfr
(B) Embryo, food reserves and coat/Hkzw.k] [kk|

fup; (iwQM fjT+koZ) vkSj vkoj.k
(C) Cotyledons/chtik=k

         (D)  Zygotes/;qXeut
83. Which one of the following instrument is

used for measuring the humidity of the air?

ok;q esa ueh ekius osQ fy, fuEu esa ls fdl ;a=k dk iz;ksx
fd;k tkrk gS\
(A) Wind vane/foM osu
(B) Aneroid barometer/funzzo ok;qnkcekih
(C) Wet and dry bulb thermometer/ue vkSj

'kq"d cYc rkikekih
(D) Maximum and minimum thermometer/

vfèkdre vkSj U;wure rkiekih
84. Which one of the following statement is not

correct?

fuEufyf[kr esa ls dkSu&lk ,d dFku lR; ugha gS
(A) Weight of a body is different on different

planets/'kjhj dk Hkkj vyx&vyx xzgksa ij fHkUu
gksrk gSA

(B) Mass of a body on the Earth, on the Moon

and in empty space is the same /'kjhj dk
nzO;eku i`Foh ij] panzek ij vkSj ckgjh ok;qeaMy ij
leku gksrk gSA

(C) Weight and mass of a body are equal at

sea level on the surface of the Earth/

iF̀oh dh lrg ij 'kjhj dk Hkkj vkSj nzO;eku leqnz ry
ij cjkcj gksrk gS

        (D) None of these/buesa ls dksbZ ugha
85. Data that is copied from an application is

stored in the -

fdlh ,fIyosQ'ku ls dkWih fd;k x;k MkVk________  esa
LVksj fd;k tkrk gS\
(A) Driver/Mªkboj (B) clipboard/fDyicksMZ

        (C)  Terminal/VfeZuy (D) Prompt/izkWEIV

86. Who was the first European to designate

Aryan as a race?

vk;Z dks tkfr osQ :Ik esa ukekZsfn"V djus okyk igyk ;wjksih;
dkSu&Fkk\
(A) William Jones/fofy;e tksUl
(B) H. H Wilson/,p-,p foYlu

         (C) Max Muller/eSDl eqyj
(D) General Cunningham/tujy dfua?ke

87. The high density of population in Nile Valley

and Island of Java is primarily due to:

uhy ?kkVh vkSj tko}hi esa vkcknh osQ mPp ?kuRo dk eq[;
dkj.k gS&
(A) Intensive agriculture/xgu o`Qf"k
(B) Industrialisation/vkS|ksfxdj.k
(C) Urbanisation/'kgjhdj.k
(D) Topographic constraints/LFkykòQfrd ckè;rk

88. The Council of Minister is collectively

responsible to which of the following?

fuEufyf[kr esa ls lkewfgd :i ls eaf=k ifj"kn~ fdlosQ izfr
ftEesnkj gS\
(A) Prime Minister/izèkkuea=kh
(B) President/jk"Vªifr
(C) Rajya Sabha/jkT; lHkk
(D) Lok Sabha/yksd lHkk

 89. Match List-I with List-II and select the

correct answer using the codes given below

the lists.

lwph&I dks lwph&II ls lqesfyr dj uhps nh xbZ lwfp;ksa osQ
izòf"V;ksa esa ekStwnk owQVksa dk mi;ksx djosQ lgh mÙkj dk p;u
djsaA

List I/lwph&I List II/lwph&II

a. Photosynthesis 1. Plasma membrane

izdk'k la'ys"k.k Iyktek f>Yyh
b. Mineral uptake 2. Chloroplast

[kfut ysuk DyksjksIykWLV
c. Respiration 3. Mitochondria

'olu ekbVksdkWfUMª;k
d. Protein synthesis 4. Ribosomes

izksVhu la'ys"k.k   jkbckstkse
Codes/owQV

a   b   c   d

(A) 2   1   3  4

(B) 1   3   4  2

         (C)  3   4   2  1

(D) 4    2   1  3
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 90. The Zonal councils have been established

by

tksuy ifj"kn fdlosQ }kjk LFkkfir dh xbZ gS\
(A) Article 263 of the Constitution/lafoèkku

263 osQ vuqNsn }kjk
(B) State Re-organization Act/jkT; iquxaBu

vfèkfu;e }kjk
(C) Zonal Council Act/{ks=kh; ifj"kn vfèkfu;e }kjk
(D) An order of the President of India/Hkkjr

osQ jk"Vªifr osQ vkns'k }kjk
 91. What is the role of positive catalyst in a

chemical reaction?

jklk;fud izfrfozQ;k esa ldkjkRed mRizsjd dh D;k Hkwfedk
gS\
(A) It increases the rate of reaction/;g

izfrfozQ;k dh nj dks c<+k nsrh gS
(B) It decreases the rate of reaction/;g

izfrfozQ;k dh nj dks ?kVk nsrh gS
(C) It increases the yield of the products/

;g mRiknksa dh mit c<+k nsrh gS
(D)  It provides better purity of the products/

;g mRiknksa dks csgrj 'kq¼rk iznku djrh gS
 92. Mid-Day Meal Scheme was started in the

year ?

feM&Ms ehy ;kstuk fdl o"kZ 'kq: dh xbZ Fkh\
(A) 1995 (B) 1996

(C)  1997 (D) 1998

 93. Karan Singh, who passed away, recently,
was the minister of which Indian state?

dj.k flag] ftudk gky esa fuèku gks x;k gS og fdl Hkkjrh;
jkT; osQ ea=kh Fks\
(A) Sikkim/flfDde
(B) Punjab/iatkc
(C) Himachal Pradesh/fgekpy izns'k
(D) Jammu & Kashmir/tEew vkSj d'ehj

94. The Fourth Schedule to the Constitution of

India deals with:

Hkkjr osQ lafoèkku dh pkSFkh vuqlwph fdlls lacaèk j[krh gS\
(A) Provisions related to the administration

of tribal areas/tutkrh; {ks=kksa esa iz'kklu osQ
lacafèkr micaèk

(B) Allocation of seats in the Council of

States./foèkku ifj"kn esa lhVksa dk vkcaVu
(C) The Union List, the state List and the

Concurrent List/la?k lwph] jkT; lwph ,oa leorhZ
lwph

        (D) Recognized language of the Union of

India./Hkkjrh; la?k dh ekU;rk izkIr Hkk"kk,a
 95. Which among the following has the world’s

largest reserves of uranium?

fuEufyf[kr esa ls fo'o dk lcls cM+k HkaMkj gS&
(A) Australia/vkLVsªfy;k esa
(B) Canada/dukM+k esa

         (C)  Russia/:l esa
(D) USA/la;qDr jkT; vesfjdk esa

 96. Which one of the following is a transition

metal?

fuEUkfyf[kr esa ls ,d laozQe.k èkkrq gS&
(A) Aluminium (Al)/,Y;wehfu;e (Al)

(B) Magnanese (Mn)/eSxuht (Mn)

(C) Magnesium (Mg)/eSXuhf'k;e (Mg)

        (D)  Calcium (Ca)/oSQfY'k;e (Ca)

 97. What is the name of vessel that delivers

the nutrient rich blood from the stomach

and small intestine to the liver?

dkSu&lh ukfydk iks"kd rRoksa ls ;qDr jDr dks isV vkSj NksVh
vkar ls ;`dr rd igq¡pkrh gS\
(A) Left hepatic artery/ckbZ ;o`Qr èkeuh
(B) Hepatic vein/;o`Qr ufydk
(C) Right hepatic artery/nkbZ ;o`Qr èkeuh
(D) Hepatic portal vein/;o`Qr iksVZy ufydk

 98. Which one of the following is not a good

source of nutrition calcium?

fuEu esa ls dkSu&lk oSQfY'k;e iks"k.k dk vPNk L=kksr ugha gSA
(A) Rice/pkoy
(B) Ragi/jkxh
(C)  Skimmed milk/fLdEM nwèk
(D) Egg/vaMk

 99. The office of Lokpal and Lokayukta in India

is based on which one of the following?

Hkkjr osQ yksdiky vkSj yksdk;qDr dk in fuEufyf[kr esa ls
vkèkkfjr gksrk gS&
(A) Parliamentary Commissioner of UK/fczVsu

osQ lalnh; vk;qDr ij
(B) Ombudsman in Scandinavia/LoSaQfMusfo;k esa

yksdiky ij
(C) Procurator General of Russia/:l osQ

izksD;wjsVj tujy ij
         (D) Council of State in France/izQakl esa jkT;

ifj"kn ij
 100. The Greek ambassador sent to Chandragupta

Maurya’s court was

panzxqIr ekS;Z dh vnkyr esa ;wukuh }kjk Hkstk x;k jktnwr Fkk&
(A) Kautilya/dkSfVY;
(B) Seleucus Nicator/lsY;qdl fudsVj

        (C)  Megasthenes/eSxkLFkuht
(D) fahien/iQkfg;ku
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Part - III  lkekU; bathfu;fjax (;kaf=kdh)

101. N.T.P ij lHkh xSlks ds Gm (vFkkZr 1 gm eksy) esa
vfHkO;Dr vkf.od otu buesa ls fdruk vk;ru ysrk gS%
(A) 22.4 yhVj (B) 29.27 yhVj
(C) 427 yhVj (D) 848 yhVj

102. lfnZ;ksa esa Å"ek ds fy, fdlh ?kj esa 60 M cal/hr dh
vko";drk gksrh gSA Å"ek iEi ckgj dh BaMh gok ls Å"ek
40 M cal/hr dk vo"kks'k.k djrk gS COP buesa ls D;k
gksxk%
(A) 1.5 (B) 3
(C) 1/3 (D) 2/3

103. ;fn fdlh vksVks&pØ ij dk;Z dj jgs batu dk lEihMu
vuqikr 5 ls 7 rd c<+rk gS rks mldh dk;Zdq'kyrk esa
çfr'kr o`f¼ fdruh gksxh%
(A) 4% (B) 8%
(C) 14% (D) 27%

104. ok;q çnw"k.k dk Lrj de djus ds fy, rki 'kfDr la;U=kksa esa
fuEukafdr esa ls dkSu lh ;qfDr ç;ksx dh tkrh gS%
(A) çsfjr çokr ia[kk
(B) fpeuh
(C) fLFkj oS|qr vo{ksfi=k
(D) pwf.kZ=k

105. tc ok;q rFkk ty ok"i feJ.k dks ty ok"i ds lar`fIr
rkieku rd] fLFkj nokc ij 'khry fd;k tkrk gS rks çkIr
rkieku dks buesa ls fdl :i esa tkuk tkrk gSA
(A) 'kq"d cYc rkieku (B) vkæZ cYc rkieku
(C) vkslkad rkieku (D) ØkfUrd rkieku

106. fdlh fpdus iQ'kZ ij 2.25 ehVj dh Å¡pkbZ ls fxjk, tkus
ij ,d xsan 1.00 ehVj Å¡pkbZ ds cjkcj mNky ysrh gS rks
xsan vkSj iQ'kZ ds chp çR;oLFkku xq.kkad buesa ls fdlds
cjkcj gksxk%
(A) 0.25 (B) 0.50

(C) 0.67 (D) 0.33

107. nks çkl /kj.kksa dh yEckbZ leku gSA ,d leku :i ls forfjr
Hkkj ogu djrh gS vkSj nwljh Hkh ogh Hkkj ogu djrh gS fdUrq
og Hkkj eqDr fljs ij ladsfUær gSA vfèkdre fo{ksi vuqikr
gS%
(A) 3/8 (B) 2/3
(C) 3/2 (D) 1/3

108. isVªksy batu esa bZa/u iEi dk dk;Z gSA
(A) batu esa bZa/u iEi djuk
(B) dkcqjsVj v{ke gksus ij bZa/u dh vkiwfrZ djuk
(C) bZa/u dks iEi djuk ftlls fd og dkcZqjsVj rd igq¡p

ldsA
(D) rkih; n{krk esa lq/kj ykuk

109. 5 fdyks otu dk ,d ydM+h dk VqdM+k tc ikuh esa rSjrk
gS rks blds vk;ru dk 60» Hkkx æo ds vUnj jgrk gSA
ydM+h dh fof'k"V xq:Ro fu/kZfjr djsa% A
(A) 0.83 (B) 0.6

(C) 0.4 (D) 1.67

110. fdlh æopkfyr nkfc=k dk jSe dk 15 ls-eh- dk O;kl rFkk
Iytaj dk 15 ls-eh- dk O;kl gSA bls 1000 fd-xzk- Hkkj mBkuk
gSA Iyatj ij ckafNr cy buesa ls fdlds led{k gksxk%
(A) 10 fd-xzk- (B) 100 fd-xzk-
(C) 1000 fd-xzk- (D) 10]000 fd-xzk-

111. osfYMax esa xkydksa dk ç;ksx xfyr /krq dks cpkus ds fy,
fd;k tkrkA gS rFkk lrgksa dks buesa ls fdlls tksM+k tkrk gSA
(A) vkWDlhdj.k
(B) dkcZu O;kiu
(C) vleku rkieku forj.k
(D) O;kroZu rFkk vkoyu

112. ok"i dh 'kq"d fHkUu xq.kkad fu/kZj.k ç;ksx esa 15 feuV esa
foyfxr ikuh dk æO;eku 1-2 fd-xzk- rFkk mrus gh le; esa
ok"i fuLlj.k dk æO;eku 4-8 fd-xzk- Fkk rks 'kq"d fHkUu
xq.kkad gksxk%
(A) 40% (B) 25%
(C) 50% (D) 80%

113. rki fo|qr IykaV esa ty Hkj.k vuqdwyu fd;k tkrk gSA
(A) dBksjrk de djus ,oa Bksl inkFkks± dks gVkus gsrq
(B) rki fo|qr IykUV dh n{krk c<+kus gsrq
(C) m"ek LFkkukUrj.k nj dks c<+kus gsrq
(D) Hkki çkpyksa dks c<+kus gsrq

114. nks /juksa dh leku xgjkbZ gS] ijUrq ,d /ju dh pkSM+kbZ nwljs
ds nksA xquh gSA nks xquh pkSM+kbZ okys /ju dh çR;kLFk etcwrh
nwljs /ju dh rqyuk esa gksxh%
(A) vkB xquh (B) nks xquh
(C) rhu xquh (D) pkj xquh

115. ,d xksykdkj ik=k ftldk vkUrfjd O;kl 2 eh- gS] dks 500
fdxzk- @lseh ruko esa vuqes; çfrcy okys inkFkZ ls cuk;k
tkrk gSA 25 fdxzk- @ lseh- nkc dks lgus ds fy, ik=k dh
eksVkbZ gksxh%
(A) 5 lseh- (B) 10 lseh-
(C) 2-5 lseh- (D) 1-25 lseh-

116. fjosVsM tksM+ esa ySi tksM+ dh ctk; cêð tksM+ dks çkFkfedrk
nsrs gSaA bldk dkj.k gSA
(A) cêð tksM+ esa tksM+ dh n{krk vf/d gSA
(B) cêð tksM+ dks cukuk vklku gSA
(C) fjosV esa vf/d çfrcy gksus ds dkj.k lkekU;r% ySi

tksM+ vliQy gks tkrs gSaA
(D) cêð tksM+ leehfr; gksrs gSaA

117. çkaMy la[;k fuEu esa ls fdldk vuqikr gS\
(A) laosx folj.k'khyrk ls æO;eku folj.k'khyrk dk
(B) laosx folj.k'khyrk ls rkih; folj.k'khyrk dk A
(C) rkih; folj.k'khyrk ls æO;eku folj.k'khyrk dk
(D) rkih; pkydrk ls fo'ks"k Å"ek dk
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Part - III  General Engineering (Mechanical)

101. The molecular weight expressed in gm (i.e.
1 gm mole) of all gases at N.T.P. occupies a
volume of:
(A) 22.4 litres (B) 29.27 litres
(C) 427 litres (D) 848 litres

102. A house requires 60 M cal/hr in winter for
heating. Heat pump absorbs heat 40 M cal/
hr from cold air outside. The COP will be:
(A) 1.5 (B) 3
(C) 1/3 (D) 2/3

103. If the compression ratio of an engine
working on Otto cycle is increased from 5
to 7, the %age increase in efficiency will
be:
(A) 4% (B) 8%
(C) 14% (D) 27%

104. Which device is used in thermal power
plants to reduce level of air pollution:
(A) Induced draft fan
(B) Chimney
(C) Electrostatic precipitator
(D) Pulveriser

105. When a mixture of air and water vapour is
cooled at constant pressure upto saturation
temperature of water vapour, the
temperature attained is known as:
(A) Dry bulb temperature
(B) Wet bulb temperature
(C) Dew point temperature
(D) Critical temperature

106. If a ball which is dropped from a height of
2.25 m on a smooth floor attains the height
of bounce equal to 1.00 m, the coefficient of
the restitution between the ball and the
floor is equal to:
(A) 0.25 (B) 0.50
(C) 0.67 (D) 0.33

107. Two cantilever beams are of equal length.
One carries a uniformly distributed load and
other carries same load but concentrated
at the free end. The ratio of maximum
deflections is:
(A) 3/8 (B) 2/3
(C) 3/2 (D) 1/3

108. The function of a fuel pump in a petrol
engine is to:
(A) Pump fuel into the engine
(B) Supply fuel when carburettor fails
(C) Pump fuel so that it reaches carburettor
(D) Improve thermal efficiency

109. A piece of wood having weight 5 kg. floats
in water with 60% of its volume under the
liquid. Determine specific gravity of wood:
(A) 0.83 (B) 0.6
(C) 0.4 (D) 1.67

110. A hydraulic press has a ram of 15 cm
diameter and plunger of 1.5 cm. It is
required to lift a weight of 1000 kg. The force
required on the plunger is equal to:
(A) 10 kg (B) 100 kg
(C) 1000 kg (D) 10,000 kg

111. Fluxes are used in welding in order to
protect the molten metal and the surfaces
to be joined from:
(A) Oxidation
(B) Carburising
(C) Unequal temperature distribution
(D) Distortion and warping

112. In an experiment to determine dryness
fraction of steam, the mass of water
separated was 1.2 kg in 15 minutes and the
mass of steam passed out in same time was
4.8 kg. Dryness fraction is:
(A) 40% (B) 25%
(C) 50% (D) 80%

113. Feed water conditioning in thermal power
plants is done to:
(A) Reduce hardness and for removal of

solids
(B) Increase efficiency of thermal power

plant
(C) Increase heat transfer rate
(D) Increase steam parameters

114. Two beams have same depth but one beam
has double the width of the other. The
elastic strength of double width beam
compared to other beam will be:
(A) Eight times (B) Double
(C) Three times (D) Four times

115. A spherical vessel with an inside diameter
of 2 m is made of material having an
allowable stress in tension of 500 kg/cm2.
The thickness of a shell to withstand a
pressure of 25 kg/cm2 should be:
(A) 5 cm (B) 10 cm
(C) 2.5 cm (D) 1.25 cm

116. In rivetted joints, butt joints are usually
preferred over lap joints. The reason for this
is that:
(A) Joint efficiency is more in the case of

butt joint
(B) It is convenient to make butt joint
(C) Lap joint usually fails due to severe

stresses in the rivet
(D) Butt joint is symmetrical

117. Prandtl number is the ratio of:
(A) Momentum diffusivity to mass

diffusivity
(B) Momentum diffusivity to thermal

diffusivity
(C) Thermal diffusivity to mass diffusivity
(D) Thermal conductivity to specific heat
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118. vf/dre ÅtkZ ds vuq:i rjax nSè;Z ije rkieku dk
O;qRØekuqikrh gSA og gS%
(A) LVsiQkWu fu;e
(B) fdjpkSiQ fu;e
(C) ohu foLFkkiu fu;e
(D) Iykad forj.k fu;e

119. iQksfj;s la[;k dks fuEufyf•r esa ls fdlds vuqikr ds :i
esa vfHkO;ÙkQ fd;k tk ldrk gS\
(A) mRIykodrk ls ';ku cy dk
(B) Bksl ds vkUrfjd rkih; çfrjks/ ls ifjlhek Lrj rkih;

çfrjks/ dk
(C) xq:Roh; ,oa i`"B ruu cy
(D) Å"ek pkyu nj ls Bkslksa esa rkih; ÅtkZ HkaMkj.k nj dk

120. çlkj çØe ds nkSjku fdlh ra=k ds nkc vkSj vk;ru dk laca/
p = 9 V2 gSA tgk¡ N/m2 esa p vkSj m3 esa V2 gSA 1m3

ds çkjafHkd vk;ru ls 2m3 ds vfUre vk;ru rd ds çlkj
esa ra=k }kjk fd;k x;k vf/dre dk;Z fdruk gksxk\
(A) 13 J (B) 17 J

(C) 21 J (D) 25 J

121. mRØE; batu dh Å"eh; n{krk 50» gSA ifjos'k rkieku
27°C gSA mPp rkieku lzksr dk rkieku gksxk%A
(A) 54°C (B) 108°C

(C) 258°C (D) 327°C

122. lgh dFku dk p;u dhft,A
(A) :¼ks"e çØe lnk çfrØE; gksrk gSA
(B) le,sUVªkWih çØe dHkh Hkh çfrØE; ugha gksrk gSA
(C) :¼ks"e çØe lnk le,sUVªkWih gksrk gSA
(D) ?k"kZ.kjfgr :¼ks"e çØe lnk le,sUVªkWih gksrk gSA

123. fuEufyf•r esa ls dkSu&lk ty ufydk ck;yj gS\
(A) yadk'kk;j ck;yj |
(B) cscdkWd ,oa foydkDl ck;yj
(C) yksdkseksfVo ck;yj
(D) dkWdju ck;yj

124. fpeuh esa NksM+us ls iwoZ fu"dkld Ýyw xSlksa esa Å"ek mi;ksx
djds | fdlh ;qfÙkQ dks çHkj.k ty xje djus ds fy, ç;ksx
fd;k tkrk gS] mls D;k dgrs gSa\
(A) vfrrkid
(B) ferksi;ksft=k
(C) iquLrkid
(D) mi;ZqÙkQ dksbZ ugha

125. prq% LVªksd pØ batu ds fy, çfr feuV dk;Zdkjh LVªksDl
la[;k crkb,\
(A) batu ds r.p.m.

(B) batu ds r.p.m. dk vk/k
(C) batu ds r.p.m. dk nqxquk
(D) batu ds r.p.m. dk pkj xquk

126. ç'khru la;=k esa ç;qÙkQ dksf'kdk uyh D;k dk;Z djrh gS\
(A) ços'kh rjy dh ,UFksYih c<+krh gS A
(B) la?kfu=k ls okf"i=k rd ra=k dk nkc ?kVkrh gSA
(C) æo dks ok"i esa :ikUrfjr djrh gSA
(D) æo ls ok"i dks i`Fkd djrh gSA

127. mca/u lkbØksehVj fdl iBu gsrq ds ç;ksx fd;k tkrk gS\
(A) ok;q dk 'kq"d ,oa vkæZ cYc rkieku
(B) ok;q dk lkbØksehVªh xq.k
(C) ok;q dh fof'k"V vkæZrk
(D) ok;q dh vkisf{kd vkæZrk

128. ,d iEi 30m dh nkcksPprk ij 0.025 m3/s dh nj ij
ikuh iQsadrk gSA ;fn iEi dk lexz n{krk 75% gS] rks iEi
ds fy, vkisf{kr ikoj gksxh%
(A) 1 kW (B) 4.9 kW

(C) 7.8 kW (D) 9.8 kW

129. lwph I ls lwph II dk feyku dhft, vkSj uhps lwfp;ksa esa fn,
x, dksMksa ds ç;ksx ls lgh mÙkj pqfu,%
lwph-I lwph-II
(inkFkZ xq.k/eZ) (inkFkZ x.kq/eZ fuèkkZfjr

 djus ds fy, ijh{k.k)
A. rU;rk       1. la?kêð ijh{k.k
B. pheM+iu                2. Jkafr ijh{k.k
C. lgu lhek      3. ruu ijh{k.k
D. varoZs'ku çfrjks/      4. dBksjrk ijh{k.k dksM%

Codes:
(A) A-3, B-2, C-1, D-4
(B) A-4, B-2, C-1, D-3
(C) A-3, B-1, C-2, D-4

(D) A-4, B-1, C-2, D-3

130. 10 Nm dk nf{k.kkorZ cy&vk?kw.kZ lksikuh 'kSÝV ds ekè;e
ls lapfjr fd;k tkrk gS tSls fd fp=k esa n'kkZ;k x;k gSA
yEckbZ MN, NO rFkk OP ds çR;sd ek=k dh ,saBu n`<+rk
Øe'k% 20 Nm/rad, 30 Nm/rad, rFkk 60 Nm/

rad gSA 'kSÝV ds M vkSj P fljs ds chp dk dks.kh; fo{ksi
crk,a%

(A) 0.5 rad (B) 1.0 rad

(C) 5.0 rad (D) 10.0 rad

131. ikoj isapksa ds vfHkdYi esa] oxkZdkj pwfM+;ksa dh vis{kk ,Des
pwfM+;ksa dks ojh;rk nh tkrh gS D;ksafd ,Desa pwfM+;k¡%
(A) LDos;j pwfM+;ksa dh vis{kk csgrj n{krk çnku djrh gSA
(B) buesa ?k"kZ.k dk de gksrk gS iQy Lo:i vf/d vk;q
(C) e'khuksa ds fy, vklku rFkk foikV (Split) uVksa ds ç;ksx

dh vuqefr nsrs gSa A
(D) Hkkj dks mBkus ds fy, de cy vk?kw.kZ dh t:jr gksrh

gSA
132. fo|qr vkdZ osYMdj.k esa vkdZ dh yEckbZ fdl çdkj

leafTtr dh tk, fd fuEufyf•r esa ls fdlh ,d ds cjkcj
gks tk,%
(A) bysDVªksM ds O;kl
(B) bysDVªksM ds vk/s O;kl
(C) bysDVªksM ds nqxqus O;kl
(D) bysDVªksM ds frxqus O;kl
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118. Wavelength corresponding to the maximum
energy is inversely proportional to the
absolute temperature.This is:
(A) Stefan’s law
(B) Kirchhoff’s law
(C) Wien’s displacement law
(D) Planck’s distribution law

119. Fourier number may be expressed as ratio of:
(A) Buoyancy to viscous force
(B) Internal thermal resistance of a solid

to the boundary layer thermal
resistance

(C) Gravitational and surface tension forces
(D) Heat conduction rate to the rate of

thermal energy storage in a solid
120. The relation between the pressure and

volume of a system during expansion
process is p = 9 V2. Where p is in N/m2 and
V in m3. The maximum work done by the
system in expanding from an initial volume
of 1 m3 to a final volume of 2 m3 would be:
(A) 13 J (B) 17 J
(C) 21 J (D) 25 J

121. The thermal efficiency of a reversible
engine is 50%. The ambient temperature
is 27°C. The temperature of the high
temperature source is:
(A) 54°C (B) 108°C
(C) 258°C (D) 327°C

122. Choose the correct statement:
(A) An adiabatic process is always

reversible
(B) An isentropic process is never

reversible
(C) An adiabatic process is always

isentropic
(D) A frictionless adiabatic process is

always isentropic
123. Which of the following is a water tube boiler?

(A) Lanchashire boiler
(B) Babcock and Wilcox boiler
(C) Locomotive boiler
(D) Cochran boiler

124. A device used to heat feed water by utilizing
the heat in the exhaust flue gases before
leaving through the chimney, is known as:
(A) Superheater (B) Economizer
(C) Reheater (D) None of the above

125. The number of working strokes per minute
for a four stroke cycle engine are:
(A) r.p.m of the engine
(B) One-half of the r.p.m of the engine
(C) Twice the r.p.m. of the engine
(D) Four times the r.p.m. of the engine

126. The capillary tube used in a refrigeration
plant is used to:
(A) Increase the enthalpy of the entering fluid
(B) Reduce the pressure of the system from

condenser to evaporator
(C) Convert liquid into vapour
(D) Separate vapour from the liquid

127. A sling psychrometer is used to read:

(A) Dry and wet bulb temperatures of air

(B) Psychrometric properties of air

(C) Specific humidity of air

(D) Relative humidity of air

128. A pump delivers water at a rate of 0.025 m3/
s against a head of 30 m. If the overall
efficiency of the pump is 75%, the power
required by the pump is:

(A) 1 kW (B) 4.9 kW

(C) 7.8 kW (D) 9.8 kW

129. Match List I and List II and select the
correct answer using the codes given below
the lists:

List-I List-II

(Material properties) (Test to determine

material properties)

A. Ductility 1. Impact test

B. Toughness 2. Fatigue test

C. Endurance limit 3. Tension test

D. Resistance to 4. Hardness test

penetration

Codes:

(A) A-3, B-2, C-1, D-4

(B) A-4, B-2, C-1, D-3

(C) A-3, B-1, C-2, D-4

(D) A-4, B-1, C-2, D-3

130. A clock-wise torque of 10 Nm is transmitted
through a stepped shaft as shown in Figure.
The torsional stiffness of individual sections
of lengths MN, NO and OP are 20 Nm/rad,
30 Nm/rad, and 60 Nm/rad, respectively.
The angular deflection between the ends
M and P of the shaft is:

(A) 0.5 rad (B) 1.0 rad

(C) 5.0 rad (D) 10.0 rad

131. In design of power screws, Acme threads are
preferred over the square threads because
Acme threads

(A) Offer better efficiency than square
threads

(B) Have less wear and therefore more life

(C) Are easier to machine and permit use
of a split nut

(D) Require lower torque to raise the load

132. In electric arc welding the length of arc is
adjusted such that it is equal to:

(A) Diameter of the electrode

(B) Half the diameter of the electrode

(C) Two times the diameter of the electrode

(D) Three times the diameter of the
electrode
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133. çdkf'kd xst fdl fl¼kUr ij dk;Z djrk gS\
(A) çdk'k fdj.kksa ds ijkorZu
(B) çdk'k fdj.kksa ds è#o.k
(C) çdk'k fdj.kksa ds O;frdj.k
(D) çdk'k fdj.kksa ds ifj{ksi.k (çdh.kZu)

134. Mhty rsy ds fu"iknu dh rqyuk fuEukafdr esa ls fdl
gkMMªksdkcZu ds lkFk djds lhVsu la[;k fu/kZfjr dh tkrh gSA
(A) lhVsu
(B) lhVsu vkSj vYiQkfeFkkby usÝFkkysu ds feJ.k
(C) ,YMgkbMs rFkk dhVksu dk feJ.k A
(D) lhVsu rFkk VsVªk bFkkby yhM dk feJ.k

135. jSd ,oa fifu;u foU;kl fdlds gsrq ç;qÙkQ gksrk gSA
(A) jSf•d xfr ls ?kw.khZ; xfr
(B) ?kw.khZ; xfr ls ?kw.khZ; xfr
(C) jSf•d xfr ls jSf•d xfr
(D) ?kw.khZ; xfr ls jSf•d xfr

136. dkWVj lfU/ fdls lapfjr djus esa ç;qÙkQ gksrk gSA
(A) dsoy v{kh; ruu Hkkj
(B) dsoy v{kh; lEihMu Hkkj
(C) dsoy la;qXe v{kh; ,oa ,saBu Hkkj
(D) v{kh; ruu vFkok lEihMu Hkkj

137. ,d csyukdkj fgLls dh O;kl dk ekiu djrs le; 5»
=kqfV ?kfVr gksrh gSA iqtZs dh ijdfyr Hkkj esa laHkkfor =kqfV
yxHkx gksxh%
(A) 10» (B) 5»
(C) 1» (D) 7-5 »

138. fuEukafdr esa ls fdu i`"B dBksjhdj.k çØeksa dks eTt'khru
dh dksbZ vko';drk ugha gksrh gSA
(A) çsj.k dBksjhdj.k
(B) Tokyk dBksjhdj.k
(C) ukbVªkbMhdj.k
(D) i`"B dkcZu O;kiu

139. fljkfed drZu vkStkj cuk;k tkrk gS
(A) ,Y;qehfu;e vkDlkbM ds feJ.k ls
(B) flfydkWu vkDlkbM
(C) VkbZVsfu;e dkckZbM
(D) VaxLVu dkckZbM

140. fuEukafdr esa ls fdldh e'khfuax djrs le; lkekU;r% fdlh
drZd rjy dk ç;ksx ugha fd;k tkrk gSA
(A) vY;qfefu;e
(B) feJ/krq bLikr
(C) <yoka yksgk
(D) fuEu dkcZu bLikr

141. f}&foeh; vlaihMÔ çokg esa osx ds x rFkk y ?kVd u = 3x

+ 3y rFkk v = 2x – 3y ls çkIr gksrs gSaA fuEu esa ls dkSu
lgh gS\
(A) v?kw.khZ çokg
(B) ?kw.khZ çokg A
(C) foHko çokg
(D) buesa ls dksbZ ugha

142. ,d vuqçLFk ty ikbiykbu ds ,d •aM (1&1 }kjk funZsf'kr)
ij O;kl 10 lsaVhehVj gS vkSj LFkSfrd nkc 68.65 kN/m2

gSA nwljs •aM (2&2 }kjk funZsf'kr) ij O;kl 20 lsaVhehVj gS
vkSj LFkSfrd nkc 147.1 kN/m2 gSA ikbiykbu esa çokg
xfr 0.1 m3/s gSA fuEu esa ls dkSu&lk dFku lp gS\
(A) çokg •aM 1&1 ls •aM 2&2 dh rjiQ gSA
(B) çokg •aM 2&2 ls •aM 1&1 dh rjiQ gSA
(C) fuf'pr :i ls ugha crk;k tk ldrk ;k tk ldrk
(D) buesa ls dksbZ ugha A

143. ,d uksty fLFkj :i ls çokfgr gksus okyh /kjk dk osx c<+kus
okyk midj.k gSA ,d •kl uksty ds varxZe ij rjy
,UFksYih vkSj osx Øe'k% 3000 kJ/Kg rFkk 60 m/s gS
tcfd fuLlj.k Nksj ij ,UFksYih 2500 kJ/Kg gSA uksty
vuqçLFk gS vkSj mlls Å"ek {kfr ux.; gSA uksty dk fuxZe
osx Kkr djsaA
(A) 900.5 m/s (B) 708.4 m/s

(C) 775.0 m/s (D) 1000 m/s

144. ,d ok;q ekud Mhty pØ dk laihfM=k vuqikr 14 gSA
laihMu LVªksd ds çkjaHk esa nkc 1 ckj gS vkSj rkieku 27°c gSaA
pØ dk vf/dre rkieku 2500°C gSA dk;Zdkjh rjy ()
dk vkuqikfrd fof'k"V Å"ek 1-4 gSA foPNsnu vuqikr dk
vuqeku yxk,a%
(A) 10.0 (B) 5.0

(C) 7.0 (D) 3.21

145. ,d cqf¼eku bathfu;j gkbMªkfyd Vjckbu ds fy, tks H,

[(H)5/4 = 12] dh nkcksPprk ds v/hu vkSj 300 RPM dh
xfr ls pyrh gSA ifjorhZ Hkkj çpkyuksa esa ç;ksx ds fy, fuEu
esa ls dsoy ,d dh vuq'kalk djsxkA ;g 196 kW fo|qr iSnk
djrh gS A
(A) isYVu Oghy
(B) dSIyu Vjckbu
(C) Msfj;kt Vjckbu
(D) mPp xfr okyk Úkafll juj

146. ;fn dksbZ lk/kj.k dkjC;wjsVj] baftu ds fdiQk;rh çpkyu ds
fy, ok;q&bZa/u feJ.k dh vkiwfrZ djus ds fy, rS;kj fd;k
tkrk gS] rks i;kZIr :i ls ?kVs gq, Hkkj ij ok;q&bZa/u feJ.k
gksxk%
(A) vR;ar lè¼ feJ.k
(B) cgqr iryk feJ.k
(C) vifjofrZr jgsxk
(D) rkfRod feJ.k

147. ikuh esa rSjrh gqbZ ,d ukSdk dk ^mRIykodrk dk dsUæ fcanq
B gSA ftlds ekè;e ls 'kjhj ij tksj Mkyus okys rjy
ds lexz mRIykodrk cy çHkkoh :i ls xqtj tkrs gSa
vkSj ̂ xq#Ro dk dsUæ' G gS ftlds ekè;e ls 'kjhj ij
fØ;k'khy xq#Ro cy çHkkoh :i ls xqtj tkrs gSaA ukSdk
dks fLFkj jgus ds fy,%

(A) G dks B ds leku vuqçLFk js•k ij gksuk pkfg,
(B) G dks mlh ÅèokZ/j js•k ij rFkk B ls uhps gksuk pkfg,
(C) G dks mlh ÅèokZ/j js•k ij rFkk B ls Åij gksuk pkfg,
(D) buesa ls dksbZ ugha
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133. An optical gauge works on the principle of:

(A) Reflection of light rays

(B) Polarization of light rays

(C) Interferences of light rays

(D) Dispersion of light rays

134. Cetane number is determined by
comparing the performance of diesel oil with
the following hydrocarbon:

(A) Cetane

(B) Mixture of Cetane and alphamethyl
naphthalene

(C) Mixture of Aldehyde and Ketone

(D) Mixture of Cetane and tetra-ethyl lead

135. Rack and pinion arrangement is used for:

(A) Linear motion to rotary motion

(B) Rotary motion to rotary motion

(C) Linear to linear motion

(D) Rotary to linear motion

136. Cotter joint is used to transmit:

(A) Axial tensile load only

(B) Axial compressive load only

(C) Combined axial and twisting load only

(D) Axial tensile or compressive load

137. An error of 5% occurred during the
measurement of the dia of a cylindrical
part. The likely error in the calculated
weight of the part is approximately:

(A) 10% (B) 5%

(C) 1% (D) 7.5 %

138. Which of the following surface hardening
processes needs no quenching?

(A) Induction hardening

(B) Flame hardening

(C) Nitriding

(D) Case carburising

139. Ceramic cutting tools are made of:

(A) Mixture of oxides of aluminum

(B) Silicon oxide

(C) Titanium carbide

(D) Tungsten carbide

140. No cutting fluid is normally used while
machining:

(A) Aluminum (B) Alloy steels

(C) Cast iron (D) Low carbon steel

141. The x and y components of velocity in a two
dimensional incompressible flow are given
by u = 3x + 3y and v = 2x – 3y

Which of the following is true.

(A) Irrotational flow

(B) Rotational flow

(C) Potential flow

(D) None of these

142. At one section (denoted by 1-1) of a
horizontal water pipeline, the diameter is
10 cm and the static pressure is 68.65 kN/
m2. At another section (denoted by 2-2), the
diameter is 20 cm and the static pressure
is 147.1 kN/m2. The flow rate in the pipe
line is 0.1 m3/s. Which of the following
statements is true:
(A) Flow is from section 1-1 to section 2-2.
(B) Flow is from section 2-2 to section 1-1*
(C) Cannot be definitely told
(D) None of these

143. A nozzle is a device for increasing velocity
of a steadily flowing stream. At the inlet of
a certain nozzle, the enthalpy and velocity
of fluid are 3000 kJ/Kg and 60 m/s
respectively, whereas the enthalpy is 2500
kJ/Kg at the discharge end. The nozzle is
horizontal and there is negligible heat loss
from it. Find the exit velocity of the nozzle.
(A) 900.5 m/s (B) 708.4 m/s
(C) 775.0 m/s (D) 1000 m/s

144. An air-standard Diesel cycle has a
compressor ratio of 14. The pressure at the
beginning of the compression stoke is 1 bar
and temperature is 27°C. The maximum
temperature of the cycle is 2500°C. The
ratio specific heat of the working fluid () is
1.4. Estimate the cut-off ratio:
(A) 10.0 (B) 5.0
(C) 7.0 (D) 3.21

145. A wise engineer will recommend only one of
the following for a hydraulic turbine, which
operates under a head of H, [(H)5/4 = 12] and
operates at speed 300 RPM, for the use in variable
load operations. It generates 196 kW power.
(A) Pelton wheel
(B) Kaplan turbine
(C) Deriaz turbine
(D) High speed Francis runner

146. If a simple carburetor is designed to supply
air-fuel mixture for economic operation of
the engine, the air fuel mixture at
sufficiently reduced load would be
(A) Very rich mixture
(B) Very thin mixture
(C) Remain unchanged
(D) Stoichiometric

147. For a boat floating on water, the “center of
buoyancy” is the point B through which the
total buoyancy forces that the fluid exerts on
the body effectively pass, and the “center of
gravity” G is the point through which the gravity
forces acting on the body effectively pass.
For the boat to be stable:
(A) G should be on the same horizontal line

as B
(B) G should be on the same vertical line

and below B
(C) G should be on the same vertical line

and above B
(D) None of these
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148. 0° jsd dks.k vkSj 2° ÝySad dks.k ls ;qÙkQ ,d ost&vkdkj
ds vkStkj us T feuV dk vkStkj&thou çnku fd;kA ;g
ekurs gq, fd fu?k"kZ.k Hkwfedk ds fy, lkekU; vkStkj fu?k"kZ.k
nj ,dleku jgsxh] ÝySad dks.k c<+kdj 8° fd, tkus ij
vkStkj&thou esa o`f¼ gSA
(A) 4 (B) 8

(C) 0.25 (D) 0

149. Dypksa ds fMtkbu esa vf/dre fu?k"kZ.k dYiuk fuEu ds
fy, mi;qÙkQ
(A) tc fMLdsa ueu'khy vkSj ubZ gksa
(B) tc fMLdsa fiaxksa dh fØ;k ds v/hu ueu'khy gksa
(C) tc fMLdsa dBksj vkSj ubZ gksaA
(D) tc fMLdsa dBksj vkSj iqjkuh gksa

150. ,d lk/kj.k dSaph esa ;fn tksM+ksa dh dqy la[;k 'n' gS rks
lnL;ksa dh dqy la[;k buesa ls fdlds cjkcj gksxhA
(A) 2n + 3 (B) 2n – 3

(C) n + 3 (D) n – 3

151. •jkn e'khu ds csM dk lkeku gS%
(A) <yoka bLikr (B) <yoka yksgk
(C) e`nq bLikr (D) Vwy bLikr

152. vkWDlh&,lsfVyhu osYMu esa%
(A) çs'kj dk ç;ksx fd;k tkrk gSA
(B) fiQyj /krq dk ç;ksx fd;k tkrk gSA
(C) çs'kj vkSj fiQyj /krq nksuksa dk ç;ksx fd;k tkrk gSA
(D) u çs'kj vkSj u fiQyj /krq dk ç;ksx fd;k tkrk gSA

153. vkIyodsfUær Å¡pkbZ buesa ls fdlds chp dh nwjh gSA
(A) ty lrg vkSj nkc dsUæ A
(B) vkIyo dsUæ vkSj xq:Ro ØsUæ
(C) vkIyo dsUæ vkSj mRIykodrk ØsUæ
(D) vkIyo dsUæ vkSj ty lrg

154. bLikr ds FkfeZV osYMu esa ç;ksx fd;k tkus okyk /krq ikmMj gS%
(A) AI (B) Cu

(C) Pb (D) W

155. fdlh fMªy ds dfVax Hkkx dks blds 'kSad ds lkFk osYM djuk
gSA blds fy, lcls vf/d mi;qÙkQ çfØ;k gS%
(A) ijkJO; osYMu
(B) bysDVªkWu che osYMu
(C) ?k"kZ.k osYMu
(D) yslj osYMu

156. ikoj gsDlk dk CysM buesa ls fdlls cuk;k tkrk gS%
(A) cksjksu bLikr
(B) mPp xfr bLikr
(C) LVsuysl bLikr
(D) vk?kkr oF;Z <yoka yksgk

157. 'khV esVy dk;Z esa iUpst (fNædks) vkSj Mkbt (BIiksa) ij
vi:i.k miyC/ djk;k tkrk gS ftlls fd%
(A) çsl Hkkj de gks
(B) vPNk dV fdukjk çkIr gks
(C) 'khV ds lacyu dks U;wure fd;k tk lds
(D) dV Cysad lh/s gks

158. LVsuysl LVhy dh lqxzkfgrk dkj.k curh gS%
(A) njkj la{kkj.k dk
(B) xrZu la{kkj.k dk
(C) vUrjdf.kd la{kkj.k dk
(D) ,d leku çgkj dk

159. Øksy çØe }kjk VkbVsfu;e d"kZ.k esa ?kVrs gq, ,tsUV vkSj
mRikn gSaA Øe'k%
(A) Mg vkSj rU; VkbVsfu;e
(B) Na vkSj rU; VkbVsfu;e
(C) Na vkSj Liat VkbVsfu;e
(D) Mg vkSj Liat VkbVsfu;e

160. gr bLikr%
(A) esa U;wure v'kq¼rk Lrj gksrk gSA
(B) esa iQkWLiQksjl vkSj lYiQj dk yxHkx 'kwU; çfr'kr gksrk

gSA
(C) flfydkWu vkSj iQkWLiQksjl ls eqÙkQ gksrk gSA
(D) vkWDlhtu ls eqÙkQ gksrk gSA

161. ,d la/kfj=k esa okLrfod fuokZr buesa ls fdlds cjkcj gksrk gSA
(A) cSjksehVjh nkc + okLrfod nkc
(B) cSjksehVjh nkc – okLrfod nkc
(C) xst nkc + ok;qeaMyh; nkc
(D) xst nkc – ok;qeaMyh; nkc

162. 1-5 ehVj yEck vkSj 6 fe-eh- O;kl okyk ,d LVhy ok;j
3.4 kN ruu Hkkj ds v/hu gSA ;fn E = 200 GPa rks
rkj dk nh/hZdj.k gksxk%
(A) 0.902 mm (B) 0.802 mm

(C) 0.702 mm (D) 0.602 mm

163. py fiLVu ds }kjk flfyUMj esa blds ewy vk;ru ds vkèks
Hkkx rd xSl laihfMr dh tkrh gSA bl çfØ;k ds nkSjku xSl
us 300 KJ Å"ek NksM+h vkSj vkarfjd ÅtkZ mruh gh jghaA
rks crkvks xSl ij fd;k x;k dk;Z fdruk (Nm) gksxk%
(A) 300 Nm (B) 3,00,000 Nm
(C) 3000 Nm (D) 30,000 Nm

164. leku laihMu vuqikr vkSj leku ek=kk esa Å"ek lfEefyr
djus ls%
(A) Mhty pØ dh vis{kk vksVks pØ vf/d n{k gSA
(B) vksVks pØ dh vis{kk Mhty pØ vf/d n{k gSA
(C) n{krk vU; dkj.kksa ij fuHkZj djrh gS%
(D) vksVks vkSj Mhty pØ nksuksa leku :i ls n{k gSa

165. Mhty batu dh vk?kkr (ukWd) djus dh ço`fÙk c<+ tkrh gS
;fn%
(A) batu dh pky c<+kbZ tkrh gS A
(B) batu HP c<+k;k tkrk gSA
(C) batu dh vkDVsu la[;k c<+kbZ tkrh gSA
(D) lEihMu vuqikr c<+k;k tkrk gSA

166. lqj{kk dkjd fuEufyf•r esa ls fdldk vuqikr gS%
(A) ijkHko çfrcy@dk;Z çfrcy
(B) ruu çfrcy@dk;Z çfrcy
(C) cs;fjax çfrcy@dk;Z çfrcy
(D) cs;fjax çfrcy@ ijkHko çfrcy
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148. A wedge-shaped tool with 0° rake angle and
2° flank angle gave a tool life of T minute.
Assuming the tool wear rate, normal to the
wear land, to be constant, the increase in
tool life when the flank angle is increased
to 8°, is:
(A) 4 (B) 8
(C) 0.25 (D) 0

149. Maximum wear assumption in the design
of clutches is suitable for:
(A) When disks are flexible and new
(B) When disks are flexible under the action

of springs
(C) When disks are rigid and new
(D) When disks are rigid and old

150. In a simple truss, if ‘n’ is the total number
of joints, the total number of members is
equal to:
(A) 2n + 3 (B) 2n – 3
(C) n + 3 (D) n – 3

151. The material of the bed of lathe machine
is:
(A) Cast steel (B) Cast iron
(C) Mild steel (D) Tool steel

152. In oxy-acetylene welding:
(A) Pressure is applied
(B) Filler metal is applied
(C) Both pressure and filler metal are

applied
(D) Neither pressure, nor filler metal is

applied
153. Metacentric height is the distance between:

(A) Water surface and center of pressure
(B) Metacentre and center of gravity
(C) Metacentre and center of buoyancy
(D) Metacentre and water surface

154. The metal powder used in Thermit welding
of steel is:
(A) Al (B) Cu
(C) Pb (D) W

155. The cutting portion of a drill is to be welded
to its shank. The process best suited for
this is:
(A) Ultrasonic welding
(B) Electron beam welding
(C) Friction welding
(D) Laser welding

156. The blade of a power hacksaw is made of:
(A) Boron steel
(B) High speed steel
(C) Stainless steel
(D) Malleable cast iron

157. In sheet metal working, shear is provided
on punches and dies so that:
(A) Press load is reduced
(B) Good cut edge is obtained
(C) Warping of sheet is minimised
(D) Cut blanks are straight

158. Sensitization of stainless steel leads to:
(A) Crevice corrosion
(B) Pitting corrosion
(C) Inter–granular corrosion
(D) Uniform attack

159. In titanium extraction by Kroll’s process,
the reducing agent and product are
respectively:
(A) Mg and ductile titanium
(B) Na and ductile titanium
(C) Na and sponge titanium
(D) Mg and sponge titanium

160. Killed steels:
(A) Have minimum impurity level
(B) Have almost zero percentage of

phosphorus and sulphur
(C) Are free from silicon and phosphorous
(D) Are free from oxygen

161. The actual vacuum in a condenser is equal
to:
(A) Barometric pressure + actual pressure
(B) Barometric pressure – actual pressure
(C) Gauge pressure + atmospheric pressure
(D) Gauge pressure – atmospheric pressure

162. A steel wire of 1.5 m long and 6 mm
diameter is subjected to a 3.4 kN tensile
load. If E = 200 GPa, the elongation of the
wire is:
(A) 0.902 mm (B) 0.802 mm
(C) 0.702 mm (D) 0.602 mm

163. A gas is compressed in a cylinder by a
movable piston to a volume one-half its
original volume. During the process, 300
kJ heat left the gas and internal energy
remained same. The work done on gas in
Nm will be:
(A) 300 Nm (B) 300,000 Nm
(C) 3000 Nm (D) 30,000 Nm

164. For same compression ratio and for same
heat added:
(A) Otto cycle is more efficient than Diesel

cycle
(B) Diesel cycle is more efficient than Otto

cycle
(C) Efficiency depends on other factors
(D) Both Otto and Diesel are equally

efficient
165. The tendency of a diesel engine to knock

increases, if:
(A) Engine speed is increased
(B) Engine H.P. is increased
(C) Octane number of fuel is increased
(D) Compression ratio is increased

166. Factor of safety is the ratio of:
(A) Yield stress / working stress
(B) Tensile stress / working stress
(C) Bearing stress / working stress
(D) Bearing stress / yield stress
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167. fuEufyf•r esa fdlesa U;wure çfr'kr dkcZu gS%
(A) vk?kkr c/Zuh; yksg (B) dPpk yksgk
(C) LVsuysl LVhy (D) fiVok¡ yksgk

168. fo;fjax dk dEiu buds }kjk ekik tk ldrk gSA
(A) Oghy LVksu fczt (B) iksVsfUl;ksehVj
(C) ,DlsyjksehVj (D) yksM lsy

169. ?kwf.kZd laihMd fuEukafdr esa ls fdlds fy, lcls vf/d
mi;qÙkQ gS%
(A) mPp nkc ij ok;q dh vf/d ek=kk
(B) mPp nkc ij ok;q dh de ek=kk
(C) fuEu nkc ij ok;q dh de ek=kk
(D) fuEu nkc ij ok;q dh vf/d ek=kk

170. U;wVu dk ';kurk fu;e fdlls lEcfU/r gS\
(A) nkc] osx ,oa ';kurk
(B) vi:i.k çfrcy ,oa rjy esa dks.kh; foÑfr dh nj
(C) vi:i.k çfrcy] rki] ';kurk ,oa osx
(D) nkc] ';kurk ,oa rki

171. 'kksYMju inkFkZ feJ/krq gS%
(A) yhM + fVu dk (B) ftad + fVu dk
(C) ftad + yhM dk (D) dkWij + ftad dk

172. ysFk esa Hkj.k çnf'kZr fd;k tkrk gSA
(A) mm çfr pØ.k
(B) mm çfr va'k
(C) mm

(D) RPM

173. tkyh esa nks vUroZfyr fx;jksa ds chp nkc dks.k gS»
(A) fx;j vkSj fifu;u ds chp dsUæ nwjh ij vk/kfjr gSA
(B) fØ;k dh ykbu ij lEidZ fcUnq dh fLFkfr ij vk/kfjr

gSA
(C) ,d fu;r çkpy tks dsoy vUroZfyr çksiQkbyu ij

vk/kfjr gSA
(D) dsUæ nwjh vkSj lEidZ fcUnq dh fLFkfr dk iQyu gSA

174. CNC fefyax e'khuksa esa çHkj.k pkyu fdl eksVj }kjk çnku
fd;k tkrk gS\
(A) rqY;dkfyd eksVj (B) çsj.k eksVj
(C) LVsij eksVj (D) lokZs eksVj

175. ,d py eSUMªy dk ç;ksx fuEu esa fd;k tkrk gSA
(A) rkj cukuk (B) /krq dkVuk
(C) ufydk cukukA (D) iQkstZu

176. ,d xfrikyd pØ ds ckjs esa dkSu&lk dFku xyr gS%
(A) xfrikyd pØ xfr dh pØh; ?kV c<+ dks e`"k.k djrk

gS tc fLFkj fuxZe 'kfÙkQ çnku djrk gSA
(B) eq[; ewoj dh ekè; xfr ij bldk dksbZ çHkko ugha gksrk

gSA
(C) ;g fuxZe mrkj p<+ko dh ns•Hkky djrk gS vkSj rnuqlkj

fuos'k dks fu;fU=kr djrk gSA
(D) eq[; ewoj ij ifjorhZ Hkkj dh ek¡x ij bldk dksbZ çHkko

ugha iM+rk gSA
177. ,d lsij esa tkWc dh Hkj.k ds }kjk djrs gS

(A) jSe lapkj (B) Vscy lapkj
(C) vuqØe.k dsUnz (D) foHkkftr 'kh"kZ

178. LVªsMy fefyax esa] ,d fefyax e'khu ds vkcZj ij yxs fdukjs
fefyax dVj dh la[;k ----------- gS
(A) ,d (B) nks
(C) rhu (D) pkj

179. fVªfiax ds fy, izn'kZu gS
(A) ,d fMªy gksy dh liQkbZ
(B) fouk fMªy ds ,d cM+k gksy mRifÙk
(C) lajs[k.k ds fy, gksy ?kw.kZu
(D) ,d fMªy gksy c<+kuk

180. T-s vkjs[k ij ,d oØ ds uhps {ks=kiQy iznf'kZr djrk gS
(A) Å"ek LFkkukUrj.k
(B) ,UFkkY;h LFkkukUrj.k
(C) varfjd mQtkZ esa ifjorZu
(D) ,UVªkih esa ifjorZu

181. lwph&I ds lkFk lwph&II feykvks vkSj lgh mÙkj pquks
lwph&I

A. ,d ogqfof/ izØe esa fd;k dk;Z
B. ,d vifjorhZ izokg izØe esa fd;k dk;Z
C. ,d izfrØE; izØe esa Å"ek LFkkukUrj.k
D. ,d vkblsUVªkfid izØe esa fd;k dk;Z

lwph&II

1. – vdp
2. 'kwU;

3.
1 1 2 12–

–1

pV p V



4.
1 1 2 12–

–1

pV pV

n

dksM%
A B C D

(A) 4 1 3 2
(B) 1 4 2 3
(C) 4 1 2 3
(D) 1 2 3 4

182. lkekU;r% viektZu ls c<+kus ds fy, djrs gS
(A) rkih; n{krk
(B) xfr
(C) Åij ds lHkh
(D) bZ/u [kir

183. Mhty bZ/u rsy ds fy, ped fcUnq gksuk pkfg,
(A) U;wure 49ºC (B) vf/dre 49ºC

(C) U;wure 99ºC (D) vf/dre 99ºC

184. VjokbZu esa tc Hkki izlkj gksrk gS] fl¼kfUrd ,UVªkih
(A) fLFkj gh jgrk gS
(B) c<+rk gS
(C) ?kVrk gS
(D) vfuf'pr <ax crkZo djrk gS
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167. Which of the following has least percentage
of carbon:
(A) Malleable iron (B) Pig iron
(C) Stainless steel (D) Wrought iron

168. Vibration of bearing can be measured by:
(A) Wheel stone bridge
(B) Potentiometer
(C) Accelerometer
(D) Load cell

169. Rotary compressor is best suited for:
(A) Large quantity of air at high pressure
(B) Small quantity of air at high pressure
(C) Small quantity of air at low pressure
(D) Large quantity of air at low pressure

170. Newton’s law of viscosity relates:
(A) Pressure, velocity and viscosity
(B) Shear stress and rate of angular

deformation in a fluid
(C) Shear stress, temperature, viscosity

and velocity
(D) Pressure, viscosity and temperature

171. The soldering material is alloy of:
(A) Lead + tin (B) Zinc + tin
(C) Zinc + lead (D) Copper + zinc

172. Feed in lathe is expressed in:
(A) mm per revolution
(B) mm per degree
(C) mm
(D) RPM

173. The pressure angle between two involute
gears in mesh is:
(A) Dependent on the center distance

between gear and pinion
(B) Dependent on the location of the point

of contact on the line of action
(C) A fixed parameter which depends on the

involute profile only
(D) A function of the center distance and

the location of the point of contact
174. Feed drives in CNC milling machines are

provided by:
(A) Synchronous motors
(B) Induction motors
(C) Stepper motors
(D) Servo motors

175. A moving mandrel is used in:
(A) Wire drawing (B) Metal cutting
(C) Tube drawing (D) Forging

176. Which is the false statement about a flywheel?
(A) Flywheel smoothens the cyclic

fluctuation of speed when delivering
constant output power

(B) It has no influence on the mean speed
of the prime mover

(C) It takes care of output fluctuation and
controls input accordingly

(D) It has no influence over the varying load
demand on prime mover

177. The feeding of a job in a shaper is done by
(A) ram movement
(B) table movement
(C) indexing centres
(D) dividing head

178. In straddle milling, the side milling cutters
mounted on the arbor of a milling machine
are...........in number

(A) one (B) two

(C) three (D) four

179. Trepanning is performed for

(A) finishing a drilled hole

(B) producing a large hole without drilling

(C) turing a hole for alignment

(D) enlarging a drilled hole

180. The area under a curve on T-s diagram
represents

(A) heat transfer

(B) enthalpy transfer

(C) change in internal energy

(D) change of entropy

181. Match List I with List II and select the
correct answer

List- I

A. Work done in a polytropic process.

B. Work done in a steady flow process

C. Heat transfer in a reversible adiabatic
process

D. Work done in an isentropic process

List - II

1. – vdp
2. zero

3.
1 1 2 12–

–1

pV p V



4.
1 1 2 12–

–1

pV pV

n

Codes:

A B C D

(A) 4 1 3 2

(B) 1 4 2 3

(C) 4 1 2 3

(D) 1 2 3 4

182. Scavenging is usually done to increase

(A) thermal efficiency

(B) speed

(C) all of the above

(D) fuel consumption

183. Flash point for diesel fuel oil should be

(A) minimum 49ºC(B) maximum 49ºC

(C) minimum 99ºC(D) maximum 99ºC

184. While steam expands in turbines,
theoretically the entropy

(A) remains constant

(B) increases

(C) decreases

(D) behaves unpredictably
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185. ,d ckW;yj esa ,d ferksi;kstd gS

(A) Hkki nkc c<+krk gS

(B) Hkki izokg c<+rk gS

(C) bZ/u [kir ?kVrk gS

(D) Hkki nkc ?kVrk gS

186. fcUnq A dk 'kh"kZ H
A
, fcUnq B ds 'kh"kZ H

B 
ls ÅPp Å¡pkbZ ij

gSA bu fcUnqvksa ds chp 'kh"kZ gkfu H
L 
gSA izokg LFkku ysxk

(A) ges'kk A ls B

(B) A ls B ;fn H
A
 = H

B
 + H

L

(C) B ls A ;fn H
A
 + H

L
 = H

B

(D) B ls A ;fn H
B
 + H

L
 = H

A

187. ,d LVªhe iQyu

(A) vifjorhZ ,oa vlaihMu izokg ds fy, dsoy ifjHkkf"kr gS

(B) ,d xf.krh; iQyu ftldk HkkSfrd lerqY; ugha gS

(C) LVªhe js[kk ds fy, ges'kk fLFkj ugha gks ldrk

(D) ?kw.kZu xfr ds fy, ykIykl lehdj.k larq"V djrk gS

188. ,d vlEihM; rjy dk vifjorhZ v?kw.kZ izokg dgykrk gS

(A) LVªhejs[kk izokg (B) Øhfiax izokg

(C) vi:i.k izokg (D) fLFkfrt izokg

189. lftZx dk ewy :i ls rkRi;Z gS

(A) ifjorhZ] lkef;d ,oa izfrØE; izokg

(B) ,;jØkÝV dk vkxs dh vksj vk?kw.kZ

(C) lksfud osx ds mQij ,d xfr ij ok;q dh vkxs dh vksj xfr

(D) ,;jØkÝV eas gok ds foLiQksV ds dkj.k lftZx fd;k
mRinku

190. ,d mM+uifg;k esa Liksdks dk iz;ksx bldh c<+kus ds fy, djrs gS

(A) vfHkdsUnzh; fØ;k (B) dks.kh; laosx

(C) dks.kh; osx (D) tM+Ro vk|w.kZ

191. vk|kro/Zurk xq.k gS ftlds }kjk ,d /krq ;k ,d ;kSfxd dk
vkosnu ds }kjk IykfLVd foÑfr gks ldrh gSA

(A) ruko izfrcy (B) laihM; izfrcy

(C) vi:i.k izfrcy (D) ueu izfrcy

192. Jkafr % lgu lhek % % foliZ.k % \

(A) izR;kLFkk ekikad (B) le;

(C) VwVu lkekè;Z (D) fgLVSfjlhl

193. Hkaxqj inkFkZ ds fy, (lkexzh c<+ko dh rqyuk esa 5» de gks
jgk)] lqj{kk xq.kkad ij vk/kfjr gS

(A) lgu lhek (B) ije izfrcy

(C) ijkHko izfrcy (D) izek.k izfrcy

194. ,d iksisV okYo dk mRiknu ds }kjk dj ldrs gS

(A) jksfyax

(B) Losfxax

(C) vilsfVax

(D) iQksftZx vkSj cfgosZ/u la;qDRk

195. ,d iQksftZax rRo esa vrIr lV nks"k dk ifj.kke gS fuEufyf[kr
eas ls dkSu

(A) MkbZ dk vuqfpr vfHkdYiy

(B) nks fMLd fgLlks dk vlek;kstu

(C) LVksd dk vuqfpr liQkbZ

(D) ,d cM+s iQksftZx dk vuqfpr 'khryu

196. <ykbZ esa uhps Lizwl dk vkdkj Vsij ds fy;s fn;k tkrk gS

(A) fi|ys /krq dk vklku izokg

(B) <ykbZ dk vklkuh ls fudyuk

(C) LFkku ds ekè;e ls vkdka{kk xSlksa dk jksduk

(D) Mkyus ds nkSjku Liwjs dk ofYxax ls jksduk

197. Ýysat fjadfyax nks"k eas ik;k tkrk gS

(A) csfyMax (B) ckyw <ykbZ

(C) xgjk d"kZ.k (D) iQksftZx

198. ;fn cSjksehVj ds rSjhlsyh uyh ds fuokZr Hkkx esa ,d Nsn cuk
gS rc ejdjh\

(A) Lrj uyh esa fxjsxk vkSj Hkjdjh ik=k esa bdV~Bk gksxk

(B) uyh eas ejdjh ds ik=k Lrj vkSj ewy Lrj ds chp Lrj
esa nksyu gksxk

(C) Nsn ds ekè;e ls fLiy cusxk

(D) uyh esa Lrj ok;qe.My ds lekuLrj iznf'kZr djsxk

199. ,d xqCckjk esaFksu dh /uRo =0.7 kg/m3 ds lkFk Hkjk gS]]
ekuk  air = 1.25 kg/m3A xqCckjs dk vk;ru D;k gS
tks 75 kg Hkkj ds ,d vkneh dks mBk;sxk

(A) 100m3 (B) 60m3

(C) 37-5m3 (D) 150m3

200. ,d 6mm ikbi esa ikuh ds ';kurk = 0.01 Iokbt ds
ysfeukj izokg ds mPpre osx (cm/sec esa) gSA

(A) 100@3 (B) 125@3

(C) 50 (D) 200
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185. An economiser in a boiler
(A) increases steam pressure
(B) increases steam flow
(C) decreases fuel consumption
(D) decreases steam pressure

186.  Point A of head H
A
 is at a higher elevation

than point B of head H
B
. The head loss

between these points is H
L
. The flow will

take place

(A) always from A to B
(B) from A to B if H

A
 = H

B
 + H

L

(C) from B to A if H
A
 + H

L
 = H

B

(D) from B to A if H
B
 + H

L
 = H

A

187. A stream function
(A) is defined only for steady and

incompressible flow
(B) is a mathematical function which has

no physical equivalent
(C) may not remain constant for a stream

line
(D) satisfies Laplace equation for

rotational motion

188. A steady irrotational flow of an
incompressible fluid is called
(A) streamline flow
(B) creeping flow
(C) shear flow
(D) potential flow

189. Surging basically implies
(A) unsteady, periodic and reversed flow
(B) forward moment of aircraft
(C) forward motion of air at a speed above

sonic velocity
(D) surging action due to the blast of air

produced in the aircraft
190. The spokes used in a flywheel increase its

(A) centripetal action
(B) angular momentum
(C) angular velocity
(D) moment of inertia

191. Malleability is the property by which a metal
or an alloy can be plastically deformed by
applying
(A) tensile stress (B) compressive stress
(C) shear stress (D) bending stress

192. Fatigue : endurance limit : : Creep : ?
(A) modulus of elasticity
(B) time
(C) rupture strength
(D) hysteresis

193. For brittle materials (materials having
elongation less than 5 precent), the factor
of safety is based on
(A) endurance limit
(B) ultimate stress
(C) yield stress
(D) proof stress

194. A poppet valve can be produced by
(A) rolling
(B) swaging
(C) uspetting
(D) combined forging and extrusion

195. Which of the following results in the cold
shut defect in a forged component?
(A) improper design of die
(B) misalignment of the two disc halves
(C) improper cleaning of the stock
(D) improper cooling of a large forging

196. The down sprue in casting is given a tapered
shape for
(A) easy flow of molten metal
(B) easy withdrawl of casting
(C) preventing aspiration gases through

space
(D) preventing bulging of sprue during

pouring
197. Flange wrinkling is the defect found in

(A) welding (B) sand casting
(C) deep drawing (D) forging

198. If a hole is made in tube torricelli's
vacuumed portion of barometer then the
mercury?
(A) level will fall in the tube and mercury

will collect in the reserviour
(B) level will oscillate b/w reserviour level

and original level of mercury in the
tube.

(C) will spill through the hole made
(D) level in the tube will remain at the

same level indicating atmosphere.

199. A balloon is filled with methane of density

= 0.75 kg/m3. Assume air  =1.25 kg/m3.

What is the volume of the balloon which will
lift a man weighing 75 kg?

(A) 100m3 (B) 60m3

(C) 37-5m3 (D) 150m3

200. The highest velocity (in cm/sec) of flow of
water of viscosity = 0.01 poise to be laminar
in a 6 mm pipe is

(A) 100/3 (B) 125/3

(C) 50 (D) 200


